X AY 3z }\ —_
7 lllﬁﬁﬂliﬁ]%ﬁm% e ==> RT 7
#1: 9 BER(101.6) #2: 17 Z24E(86.04) #3 19 ;Erﬁl:!z)b(% 59)
1 NS: 2% ZIEEGHO) -28 1 9 NS: PRIEEE FE1ESR(BAC) 11 P:| 216 : 17.84| Total VP: 81.18 Rank:
EW: =6 lREEEAC) -11 EW: fIsRE) #mEE(BAO) 28 IMP:| 2 32 5
I .
# 11 52 7NN-2 -100 Mean: 7DS7 1440 140 3 |[|# 12 s K5 3NE4 -430 Mean: 5NE-2 100 110 1
v A96 7DS7 1440 540  6NS6 990 100 2 v J85 4HW4 -420 -430  3NW3 400 1.0 1
* KT Dif: -1540 NS:-12 6DS7 940 9.0 3 + Q7532 Dif: -10 NS:0 3NE3 400 1.0 1
» KJ832 IMP: -17 EW:-14 6DS6 920 9.0 2 » 183 IMP: 0 EW:0 A 00 2
s 94 # JT863 A 00 2 ||a AT s 93 4HW4 420 0.0 1
v KJT5 v 743 3NS5 460 -20 1 ||w 9642 I v AK3 3NW4 430 0.0 3
¢ 93 * 862 6NS-1 50 110 4 |[|e A84 * KJ96 3NE4 430 0.0 4
& QT965 a 74 6NN-1 50 110 2 [ |a QJ2 » AK94 4ANW5 460 1.0 1
d ¢ VAN 4 AKQ7 7NN-2 100 -12.0 1 % ¢V AN 4 QJB742 3NE5 460 1.0 5
N ~6~~6 »Q82 7DS-2 4100 120 2 [N ~~~~~ v QT7 4ANW6 490 20 1
S ~7~~6 ¢AQ754 S ~~~~~ T 3NE6 490 20 1
E ~~~~~ & A E 554 ~5 #1765 6CW6 920 -100 1
W o~~~ ~ ~ 554~5
# 13 » 987 4SW4 -620 Mean: 5SW-2 200 110 1 ||# 14 » J92 4HN-1 -50 Mean: 4HN4 420 8.0 1
v QJ876 4SW4 -620 -360  4SE-2 200 110 1 v AQJI75 3HN3140 70  3NS4 430 8.0 1
+ Q3 Dif: 0 NS:-6 4SW-1 100 100 3 ¢ 97 Dif: -190 NS:-3 4CS4 130 20 2
& QT8 IMP: 0 EW:6 4SE-1 100 100 1 & Q3 IMP: -5 EW:-2 3HN3 140 20 4
a JT65 N a AQ42 3NW-1 100 100 1 ||a T73 ~ K864 3CS5 150 2.0 1
v A42 v KT5 A 00 2||eT4 v K862 3CS4 130 20 1
¢ J8 -l— * K962 4SW4 620 -6.0 10| |e AKT843 ¢ Q5 2HN3 140 20 1
& AKJ6 a 42 3NW3 600 -6.0 1 8 » T64 A 00 2
® VAN ,K3 4SW5 650 7.0 2 d o VAN o, AQS 5CS-1 50 3.0 1
N ~~~~~ v 93 N 4~3~1 3 4HN-1 50 3.0 5
S ~~~~~ o AT754 S 4~3~1 ¢J62 3NS-2 100 -50 3
E ~~~43 89753 E ~~~~~ & AKJ752
wv ~~~43 W ~~~~~
# 15 a A 6CW6 -920 Mean: 7CW-1 50 12.0 2 ||# 16 s Q6 2DS-2 -100 Mean: 3CE-3 300 100 1
v 7642 6NE6 -990 -640 5CW6 420 6.0 2 v4 3CE-3300 -180 3SW-2 200 9.0 1
¢ 98764 Dif: 70 NS:-7 4SW6 480 40 4 ¢ QJ9653 Dif: -400 NS:2 2SW-1 100 7.0 1
» 183 IMP: 2 EW:8 3NE6 490 40 3 » K532 IMP: -9 EW:-10 2SW2 410 20 1
# KJ654 4 QT8 A 00 2 ||a 98742 & A5 2SN-2 100 2.0 1
v v AQT 6CW6 920 -70 3 || T73 — v AQ8 2SE2 410 20 1
*2 ¢ AQJTS 6SW6 980 -80 1 ||e AT2 * K874 2HS-2 4100 2.0 1
& AKJ7642 » Q9 6NE6 990 -80 5 » A764 2DS-2 100 2.0 1
do ¢ VAN 49732 B¢V AN 4 KIT3 3DS-3 4150 1.0 1
N ~~~~~ v KJ9853 N ~~~~~ v KJ9652 3DN-3 150 1.0 1
S ~~~~~ * K3 S ~~~~~ S 2SN-3 4150 1.0 1
E 64~56 &5 E ~3~32 &T98 2NE3 4150 1.0 1
W 64 ~55 ~3~22 2DN-3 4150 1.0 2
A 00 2
2SE4 470 0.0 1
3NXS-2 300 -3.0 1
3NE3 600 9.0 4
# 17 » K765 3HW5 -200 Mean: 4HXW-2 300 9.0 1 ||# 18 & AKQ753 4SN4 620 Mean: 4SN6 680 4.0 2
v Q 3HW4 -170 -100  3DN3 110 50 2 v AQ92 4HS4 620 520 4SN5 650 4.0 3
¢ AJT965 Dif: -30 NS:-3 4HW-1 50 40 1 *3 Dif: 0 NS:3 4SN4 620 3.0 2
& KQ IMP: -1 EW:2 4DN-1 -50 20 3 & J7 IMP: 0 EW:-3 4HS4 620 3.0 3
» AJ82 aT9 2NS-1 50 20 1 ||a 962 ~ J84 4HN4 620 3.0 1
v AK876 v JT95 A 00 2 ||eJT74 | v 53 3NS4 630 3.0 4
¢ 42 ¢ 87 5DXN-1 100 00 1 ||e JT95 * K72 A 00 2
& Ad a JT832 3NS-3 150 20 1 ||a Q5 a AK432 3SN6 230 7.0 1
B e VAN 4Q43 3HW4 470 -20 4 FOVAN o T 3SN5 200 -80 1
N ~3~1~ 9432 3HWS5 200 -30 3 |IN ~~ 444 ¢ K86 2HN4 170 8.0 2
S ~3~1~ +KQ3 2HW5 200 -30 1||S ~~ 44 4 ¢ AQ864 2HN3 140 9.0 1
E 3~3~1 &9765 5DXN-2 300 50 1||E ~~~~~ & T986
W 3 ~3~1 3NXS-3 500 90 1 |W ~~~~~
# 19 » KT8 2HW3 -140 Mean: 2DXS2 180 6.0 1 [|# 20 a6 4SW4 -620 Mean: A 00 2
v 84 2HW3 140 -80  2DS2 90 50 1 v J9862 4SW4 -620 -620 4SW4 620 0.0 17
¢ J532 Dif: 0 NS:-2 1NN1 90 50 1 ¢ 9863 Dif: 0 NS:0 4SE4 620 0.0 1
& AK63 IMP: 0 EW:2 3DN-1 50 1.0 1 » KQ3 IMP: 0 EW:0 4SW5 650 1.0 1
4 Q73 » AJ96 A 00 2 ||a KQJT952 a A84 3NE5 660 -1.0 1
v KQ753 v T96 3DN-2 100 1.0 2 [|e Ad _I_ v Q73
* 97 ¢ AKT 2HW2 110 10 6 ||e 5 * KQT2
& T92 & J54 2CN-2 100 1.0 1 & T65 & A97
¢V BN 4542 2HW3 140 20 4 FOVAN 73
N ~2~~~ 9AJ2 1NE3 150 2.0 1 N 122~~~ »KT5
S ~1~~~ Q864 3HW4 470 <30 1 ||S 122 ~~ o AJ74
E ~~332 #Q87 1HW4 470 30 1 ||E ~~~ 4 4 & J842
W ~~332 ~~~44




INE#FEE 2RBERF R

® ==> RT

#1: 9 BEA(101.6) #2: 17 2fE(86.04) #3 19 55}'4%(83 59)

2 NS: 22T EHEGHO) -30 13 NS: R HERKR(BAC) -18 6.57 13.43| Total VP: 75.64 Rank:
EW: E&Hl 2k 751EEAC) 18 EW: £55 15REE(BO) 30 IMP:| 10 20 9
I .
# 11 s 52 6NS-1-50 Mean: 7DS7 1440 140 3 ||# 12 » K5 4NWS5 -460 Mean: 5NE-2 100 11.0 1
v A96 7DS-2 -100 540  6NS6 990 100 2 v J85 3NE5 -460 -430 3NW3 400 1.0 1
* KT Dif: 50 NS:-11 6DS7 940 9.0 3 + Q7532 Dif: 0 NS:-1 3NE3 400 1.0 1
» KJ832 IMP: 2 EW:12 6DS6 920 9.0 2 » 183 IMP: 0 EW:1 A 00 2
s 94 # JT863 A 00 2 ||a AT s 93 4HW4 420 0.0 1
v KJT5 v 743 3NS5 460 -20 1 ||w 9642 I v AK3 3NW4 430 0.0 3
¢ 93 * 862 6NS-1 50 110 4 |[|e A84 * KJ96 3NE4 430 0.0 4
& QT965 a 74 6NN-1 50 110 2 [ |a QJ2 » AK94 4ANW5 460 1.0 1
d ¢ VAN 4 AKQ7 7NN-2 100 -12.0 1 % ¢V AN 4 QJB742 3NE5 460 1.0 5
N ~6~~6 »Q82 7DS-2 4100 120 2 [N ~~~~~ v QT7 4ANW6 490 20 1
S ~7~~6 ¢AQ754 S ~~~~~ T 3NE6 490 20 1
E ~~~~~ ®A E 554 ~5 #1765 6CW6 920 -100 1
W~~~ ~~ 554~5
# 13 » 987 4SW4 -620 Mean: 5SW-2 200 110 1 ||# 14 » J92 4HN-1 -50 Mean: 4HN4 420 8.0 1
v QJ876 4SW4 -620 -360  4SE-2 200 110 1 v AQJI75 4CS4130 70 3NS4 430 8.0 1
+ Q3 Dif: 0 NS:-6 4SW-1 100 100 3 ¢ 97 Dif: -180 NsS:-3 4CS4 130 20 2
& QT8 IMP: 0 EW:6 4SE-1 100 100 1 & Q3 IMP: -5 EW:-2 3HN3 140 20 4
a JT65 N a AQ42 3NW-1 100 100 1 |[|a T73 ~ K864 3CS5 150 2.0 1
v A42 v KT5 A 00 2 T4 v K862 3CS4 130 20 1
¢ J8 -l— * K962 4SW4 620 -6.0 10| |e AKT843 ¢ Q5 2HN3 140 20 1
& AKJ6 a 42 3NW3 600 -6.0 1 8 » T64 A 00 2
® VAN ,K3 4SW5 650 7.0 2 ¢ VBN ,AQS 5CS-1 50 3.0 1
N ~~~~~ v 93 N 4~3~1 3 4HN-1 50 3.0 5
S ~~~~~  AT754 S 4~3~1 ¢J62 3NS-2 100 -50 3
E ~~~43 89753 E ~~~~~ & AKJ752
W ~~~43 W o~~~
# 15 a A 6NE6 -990 Mean: 7CW-1 50 12.0 2 ||# 16 s Q6 3SW-2 200 Mean: 3CE-3 300 100 1
v 7642 6NE6 -990 -640 5CW6 420 6.0 2 v4 2DN-3 -150 -180  3SW-2 200 9.0 1
¢ 98764 Dif: 0 NS:-8 4SW6 480 40 4 + QJ9653 Dif: 350 NS:9 2SW-1 100 7.0 1
» 183 IMP: 0 EW:8 3NE6 490 40 3 » K532 IMP: 8 EW:-1 2SW2 410 20 1
# KJ654 4 QT8 A 00 2 ||a 98742 & A5 2SN-2 100 2.0 1
v v AQT 6CW6 920 -70 3 || T73 — v AQ8 2SE2 410 20 1
*2 ¢ AQJTS 6SW6 980 -80 1 ||e AT2 * K874 2HS-2 4100 2.0 1
& AKJ7642 » Q9 6NE6 990 -80 5 ||aQJ » A764 2DS-2 100 2.0 1
do ¢ VAN 49732 B¢V AN 4 KIT3 3DS-3 4150 1.0 1
N ~~~~~ v KJ9853 N ~~~~~ v KJ9652 3DN-3 150 1.0 1
S ~~~~~ * K3 S ~~~~~ S 2SN-3 4150 1.0 1
E 64~56 &5 E ~3~32 &T98 2NE3 4150 1.0 1
W 64 ~55 ~3~22 2DN-3 4150 1.0 2
A 00 2
2SE4 470 0.0 1
3NXS-2 300 -3.0 1
3NE3 600 9.0 4
# 17 » K765 3HW4 -170 Mean: 4HXW-2 300 9.0 1 ||# 18 & AKQ753 3SN6 230 Mean: 4SN6 680 4.0 2
v Q 3NS-3-150 -100  3DN3 110 50 2 v AQ92 3NS4 630 520 4SN5 650 4.0 3
¢ AJT965 Dif: -20 NS:-2 4HW-1 50 40 1 *3 Dif: -400 NS:-7 4SN4 620 3.0 2
& KQ IMP: -1 EW:2 4DN-1 -50 20 3 & J7 IMP: -9 EW:-3 4HS4 620 3.0 3
» AJ82 aT9 2NS-1 50 20 1 ||a 962 ~ J84 4HN4 620 3.0 1
v AK876 v JT95 A 00 2 ||eJT74 I v 53 3NS4 630 3.0 4
¢ 42 ¢ 87 5DXN-1 100 00 1 ||e JT95 * K72 A 00 2
& Ad a JT832 3NS-3 150 20 1 ||a Q5 a AK432 3SN6 230 7.0 1
B e VAN 4Q43 3HW4 470 -20 4 FOVAN o T 3SN5 200 -80 1
N ~3~1~ 9432 3HWS5 200 -30 3 |IN ~~ 444 ¢ K86 2HN4 170 8.0 2
S ~3~1~ +KQ3 2HW5 200 -30 1||S ~~ 44 4 ¢ AQ864 2HN3 140 9.0 1
E 3~3~1 &9765 5DXN-2 300 50 1||E ~~~~~ & T986
W 3 ~3~1 3NXS-3 500 90 1 |W ~~~~~
# 19 » KT8 2CN-2 -100 Mean: 2DXS2 180 6.0 1 [|# 20 a6 4SW4 -620 Mean: A 00 2
v 84 2DS290 -80  2DS2 90 50 1 v J9862 4SW4 -620 -620 4SW4 620 0.0 17
¢ J532 Dif: -190 NS:-1  1NN1 90 50 1 ¢ 9863 Dif: 0 NS:0 4SE4 620 0.0 1
& AK63 IMP: -5 EW:-5 3DN-1 50 1.0 1 & KQ3 IMP: 0 EW:0 4SW5 650 1.0 1
4 Q73 » AJ96 A 00 2 ||a KQJT952 a A84 3NE5 660 -1.0 1
v KQ753 v T96 3DN-2 100 1.0 2 [|e Ad _I_ v Q73
* 97 ¢ AKT 2HW2 110 10 6 ||e 5 * KQT2
& T92 & J54 2CN-2 100 1.0 1 & T65 & A97
¢V BN 4542 2HW3 140 20 4 FOVABN o 73
N ~2~~~ 9AJ2 1NE3 150 2.0 1 N 122~~~ »KT5
S ~1~~~ Q864 3HW4 470 <30 1 ||S 122 ~~ o AJ74
E ~~332 #Q87 1HW4 470 30 1 ||E ~~~ 4 4 & J842
W ~~332 ~~~44




INE#FEE 2RBERF R

® ==> RT

#1: 9 BEA(101.6) #2: 17 2fE(86.04) #3 19 55}'4%(83 59)

3 NS: Z$EE EHFI(BEO) -3 20 NS: #lEF 52/~ (EAC) 1 6.86 13.14| Total VP: 72.84 Rank:
EW: 855 B EEEAC) -1 EW: &iil55 BRiEF%(B0) 3 IMP:| 21 30 12
I .
# 11 52 6DS7 940 Mean: 7DS7 1440 140 3 |[|# 12 s K5 3NE4 -430 Mean: 5NE-2 100 110 1
v A96 6NS-1-50 540 6NS6 990 100 2 v J85 3NE5 -460 -430 3NW3 400 1.0 1
* KT Dif: 990 NsS:9 6DS7 940 9.0 3 + Q7532 Dif: 30 NS:0 3NE3 400 1.0 1
» KJ832 IMP: 14 EW:11 6DS6 920 9.0 2 » 183 IMP:1 EW:1 A 00 2
s 94 # JT863 A 00 2 ||a AT s 93 4HW4 420 0.0 1
v KJT5 v 743 3NS5 460 -20 1 ||w 9642 I v AK3 3NW4 430 0.0 3
¢ 93 * 862 6NS-1 50 110 4 |[|e A84 * KJ96 3NE4 430 0.0 4
& QT965 a 74 6NN-1 50 110 2 [ |a QJ2 » AK94 4ANW5 460 1.0 1
d ¢ VAN 4 AKQ7 7NN-2 100 -12.0 1 % ¢V AN 4 QJB742 3NE5 460 1.0 5
N ~6~~6 »Q82 7DS-2 4100 120 2 [N ~~~~~ v QT7 4ANW6 490 20 1
S ~7~~6 ¢AQ754 S ~~~~~ T 3NE6 490 20 1
E ~~~~~ ®A E 554 ~5 #1765 6CW6 920 -100 1
W o~~~ ~ ~ 554~5
# 13 » 987 4SW5 -650 Mean: 5SW-2 200 110 1 ||# 14 » J92 3HN3 140 Mean: 4HN4 420 8.0 1
v QJ876 4SW4 -620 -360 4SE-2 200 110 1 v AQJI75 3NS-2-100 70 3NS4 430 8.0 1
+ Q3 Dif: -30 NS:-7 4SW-1 100 100 3 ¢ 97 Dif: 240 NS:2 4CS4 130 20 2
& QT8 IMP: -1 EW:6 4SE-1 100 100 1 & Q3 IMP: 6 EW:5 3HN3 140 20 4
a JT65 N a AQ42 3NW-1 100 100 1 |[|a T73 ~ K864 3CS5 150 2.0 1
v A42 v KT5 A 00 2 T4 v K862 3CS4 130 20 1
¢ J8 -l— * K962 4SW4 620 -6.0 10| |e AKT843 ¢ Q5 2HN3 140 20 1
& AKJ6 a 42 3NW3 600 -6.0 1 8 » T64 A 00 2
® VAN ,K3 4SW5 650 7.0 2 d o VAN o, AQS 5CS-1 50 3.0 1
N ~~~~~ v 93 N 4~3~1 3 4HN-1 50 3.0 5
S ~~~~~  AT754 S 4~3~1 ¢J62 3NS-2 100 -50 3
E ~~~43 89753 E ~~~~~ & AKJ752
wv ~~~43 W ~~~~~
# 15 a A 4SW6 -480 Mean: 7CW-1 50 12.0 2 ||# 16 s Q6 3NE3 -600 Mean: 3CE-3 300 100 1
v 7642 7CW-150 -640 5CW6 420 6.0 2 v4 2SW-1100 -180  3SW-2 200 9.0 1
¢ 98764 Dif: -530 NS:4 4SW6 480 40 4 ¢ QJ9653 Dif: -700 NS:-9 2SW-1 100 7.0 1
» 183 IMP: -11 EW:-12 3NE6 490 40 3 » K532 IMP: -12 EW:-7 2SW2 410 20 1
# KJ654 4 QT8 A 00 2 ||a 98742 & A5 2SN-2 100 2.0 1
v v AQT 6CW6 920 -70 3 || T73 — v AQ8 2SE2 410 20 1
*2 ¢ AQJTS 6SW6 980 -80 1 ||e AT2 * K874 2HS-2 4100 2.0 1
& AKJ7642 » Q9 6NE6 990 -80 5 ||aQJ » A764 2DS-2 100 2.0 1
do ¢ VAN 49732 B¢V AN 4 KIT3 3DS-3 4150 1.0 1
N ~~~~~ v KJ9853 N ~~~~~ v KJ9652 3DN-3 150 1.0 1
S ~~~~~ * K3 S ~~~~~ S 2SN-3 4150 1.0 1
E 64~56 &5 E ~3~32 &T98 2NE3 4150 1.0 1
W 64 ~55 ~3~22 2DN-3 4150 1.0 2
A 00 2
2SE4 470 0.0 1
3NXS-2 300 -3.0 1
3NE3 600 9.0 4
# 17 » K765 5DXN-2 -300 Mean: 4HXW-2 300 9.0 1 ||# 18 & AKQ753 4SN5 650 Mean: 4SN6 680 4.0 2
v Q 4DN-1-50 -100  3DN3 110 50 2 v AQ92 4SN5 650 520  4SN5 650 4.0 3
¢ AJT965 Dif: -250 NS:-5 4HW-1 50 40 1 *3 Dif: 0 NS:4 4SN4 620 3.0 2
& KQ IMP: -6 EW:-2 4DN-1 -50 20 3 & J7 IMP: 0 EW:-4 4HS4 620 3.0 3
» AJ82 aT9 2NS-1 50 20 1 ||a 962 ~ J84 4HN4 620 3.0 1
v AK876 v JT95 A 00 2 ||eJT74 I v 53 3NS4 630 3.0 4
¢ 42 ¢ 87 5DXN-1 100 00 1 ||e JT95 * K72 A 00 2
& Ad a JT832 3NS-3 150 20 1 ||a Q5 a AK432 3SN6 230 7.0 1
B e VAN 4Q43 3HW4 470 -20 4 FOVAN o T 3SN5 200 -80 1
N ~3~1~ 9432 3HWS5 200 -30 3 |IN ~~ 444 ¢ K86 2HN4 170 8.0 2
S ~3~1~ +KQ3 2HW5 200 -30 1||S ~~ 44 4 ¢ AQ864 2HN3 140 9.0 1
E 3~3~1 &9765 5DXN-2 300 50 1||E ~~~~~ & T986
W 3 ~3~1 3NXS-3 500 90 1 |W ~~~~~
# 19 » KT8 2HW2 -110 Mean: 2DXS2 180 6.0 1 [|# 20 a6 4SW4 -620 Mean: A 00 2
v 84 3DN-2-100 -80 2DS2 90 50 1 v J9862 4SE4 -620 -620 4SW4 620 0.0 17
¢ J532 Dif: 10 NS:-1  1NN1 90 50 1 ¢ 9863 Dif: 0 NS:0 4SE4 620 0.0 1
& AK63 IMP: 0 EW:1 3DN-1 50 1.0 1 & KQ3 IMP: 0 EW:0 4SW5 650 1.0 1
4 Q73 » AJ96 A 00 2 ||a KQJT952 a A84 3NE5 660 -1.0 1
v KQ753 v T96 3DN-2 100 1.0 2 [|e Ad _I_ v Q73
* 97 ¢ AKT 2HW2 110 10 6 ||e 5 * KQT2
& T92 & J54 2CN-2 100 1.0 1 & T65 & A97
¢V BN 4542 2HW3 140 20 4 FOVABN o 73
N ~2~~~ 9AJ2 1NE3 150 2.0 1 N 122~~~ »KT5
S ~1~~~ Q864 3HW4 470 <30 1 ||S 122 ~~ o AJ74
E ~~332 #Q87 1HW4 470 30 1 ||E ~~~ 4 4 & J842
W ~~332 ~~~44




INE#FEE 2RBERF R

® ==> RT

#1: 9 BEA(101.6) #2: 17 2fE(86.04) #3 19 ?Efﬁl:iﬂb(% 59)

4 NS: BREE JAEHEEO) 20 5 NS: BRI REE((BAC) 5 3.03 16.97 | Total VP: 60.39 Rank:
EW: B2z BEZE0MEAC) -5 EW: M RIF Z1IE(B0) 20 IMP:| 15 40 18
I .
# 11 s 52 6NN-1 -50 Mean: 7DS7 1440 140 3 ||# 12 » K5 3NW4 -430 Mean: 5NE-2 100 11.0 1
v A96 6NN-1-50 540 6NS6 990 100 2 v J85 3NE5 -460 -430 3NW3 400 1.0 1
* KT Dif: 0 NS:-11 6DS7 940 9.0 3 + Q7532 Dif: 30 NS:0 3NE3 400 1.0 1
» KJ832 IMP: 0 EW:11 6DS6 920 9.0 2 » 183 IMP:1 EW:1 A 00 2
s 94 # JT863 A 00 2 ||a AT s 93 4HW4 420 0.0 1
v KJT5 v 743 3NS5 460 -20 1 ||w 9642 I v AK3 3NW4 430 0.0 3
¢ 93 * 862 6NS-1 50 110 4 |[|e A84 * KJ96 3NE4 430 0.0 4
& QT965 a 74 6NN-1 50 110 2 [ |a QJ2 » AK94 4ANW5 460 1.0 1
d ¢ VAN 4 AKQ7 7NN-2 100 -12.0 1 % ¢V AN 4 QJB742 3NE5 460 1.0 5
N ~6~~6 »Q82 7DS-2 4100 120 2 [N ~~~~~ v QT7 4ANW6 490 20 1
S ~7~~6 ¢AQ754 S ~~~~~ T 3NE6 490 20 1
E ~~~~~ ®A E 554 ~5 #1765 6CW6 920 -100 1
W o~~~ ~ ~ 554~5
# 13 » 987 4SW-1 100 Mean: 5SW-2 200 110 1 ||# 14 » J92 4HN-1 -50 Mean: 4HN4 420 8.0 1
v QJ876 4SW4 -620 -360  4SE-2 200 110 1 v AQJI75 3NS4430 70 3NS4 430 8.0 1
+ Q3 Dif: 720 NS:10 4SW-1 100 100 3 ¢ 97 Dif: -480 NsS:-3 4CS4 130 20 2
& QT8 IMP: 12 EW:6 4SE-1 100 100 1 & Q3 IMP: -10 EW:-8 3HN3 140 20 4
a JT65 N a AQ42 3NW-1 100 100 1 |[|a T73 ~ K864 3CS5 150 2.0 1
v A42 v KT5 A 00 2 T4 v K862 3CS4 130 20 1
¢ J8 -l— * K962 4SW4 620 -6.0 10| |e AKT843 ¢ Q5 2HN3 140 20 1
& AKJ6 a 42 3NW3 600 -6.0 1 8 » T64 A 00 2
® VAN ,K3 4SW5 650 7.0 2 d o VAN o, AQS 5CS-1 50 3.0 1
N ~~~~~ v 93 N 4~3~1 3 4HN-1 50 3.0 5
S ~~~~~ o AT754 S 4~3~1 ¢J62 3NS-2 100 -50 3
E ~~~43 89753 E ~~~~~ & AKJ752
wv ~~~43 W ~~~~~
# 15 a A 6NE6 -990 Mean: 7CW-1 50 12.0 2 ||# 16 s Q6 2SE2 -110 Mean: 3CE-3 300 100 1
v 7642 3NE6 -490 -640 5CW6 420 6.0 2 v4 2SN-3 -150 -180  3SW-2 200 9.0 1
¢ 98764 Dif: -500 NS:-8 4SW6 480 40 4 ¢ QJ9653 Dif: 40 NS:2 2SW-1 100 7.0 1
» 183 IMP: -11 EW:-4 3NE6 490 40 3 » K532 IMP: 1 EW:-1  2SW2 410 20 1
# KJ654 4 QT8 A 00 2 ||a 98742 & A5 2SN-2 100 2.0 1
v v AQT 6CW6 920 -70 3 || T73 — v AQ8 2SE2 410 20 1
*2 ¢ AQJTS 6SW6 980 -80 1 ||e AT2 * K874 2HS-2 4100 2.0 1
& AKJ7642 » Q9 6NE6 990 -80 5 ||aQJ » A764 2DS-2 100 2.0 1
do ¢ VAN 49732 B¢V AN 4 KIT3 3DS-3 4150 1.0 1
N ~~~~~ v KJ9853 N ~~~~~ v KJ9652 3DN-3 150 1.0 1
S ~~~~~ * K3 S ~~~~~ S 2SN-3 4150 1.0 1
E 64~56 &5 E ~3~32 &T98 2NE3 4150 1.0 1
W 64 ~55 ~3~22 2DN-3 4150 1.0 2
A 00 2
2SE4 470 0.0 1
3NXS-2 300 -3.0 1
3NE3 600 9.0 4
# 17 » K765 5DXN-1-100 Mean: 4HXW-2 300 9.0 1 ||# 18 & AKQ753 2HN3 140 Mean: 4SN6 680 4.0 2
v Q 4HXW-2 300 -100  3DN3 110 50 2 v AQ92 4HN4 620 520 4SN5 650 4.0 3
¢ AJT965 Dif: -400 NS:0 4HW-1 50 40 1 *3 Dif: -480 NS:-9 4SN4 620 3.0 2
& KQ IMP: -9 EW:-9 4DN-1 -50 20 3 & J7 IMP: -10 EW:-3 4HS4 620 3.0 3
» AJ82 aT9 2NS-1 50 20 1 ||a 962 ~ J84 4HN4 620 3.0 1
v AK876 v JT95 A 00 2 ||eJT74 I v 53 3NS4 630 3.0 4
¢ 42 ¢ 87 5DXN-1 100 00 1 ||e JT95 * K72 A 00 2
& Ad a JT832 3NS-3 150 20 1 ||a Q5 a AK432 3SN6 230 7.0 1
B e VAN 4Q43 3HW4 470 -20 4 FOVAN o T 3SN5 200 -80 1
N ~3~1~ 9432 3HWS5 200 -30 3 |IN ~~ 444 ¢ K86 2HN4 170 8.0 2
S ~3~1~ +KQ3 2HW5 200 -30 1||S ~~ 44 4 ¢ AQ864 2HN3 140 9.0 1
E 3~3~1 &9765 5DXN-2 300 50 1||E ~~~~~ & T986
W 3 ~3~1 3NXS-3 500 90 1 |W ~~~~~
# 19 » KT8 3DN-2 -100 Mean: 2DXS2 180 6.0 1 [|# 20 a6 4SW4 -620 Mean: A 00 2
v 84 2HW3 140 -80  2DS2 90 50 1 v J9862 4SW4 -620 -620 4SW4 620 0.0 17
¢ J532 Dif: 40 NS:-1  1NN1 90 50 1 ¢ 9863 Dif: 0 NS:0 4SE4 620 0.0 1
& AK63 IMP: 1 EW:2 3DN-1 50 1.0 1 & KQ3 IMP: 0 EW:0 4SW5 650 1.0 1
4 Q73 » AJ96 A 00 2 ||a KQJT952 a A84 3NE5 660 -1.0 1
v KQ753 v T96 3DN-2 100 1.0 2 [|e Ad _I_ v Q73
* 97 ¢ AKT 2HW2 110 10 6 ||e 5 * KQT2
& T92 & J54 2CN-2 100 1.0 1 & T65 & A97
¢V BN 4542 2HW3 140 20 4 FOVABN o 73
N ~2~~~ 9AJ2 1NE3 150 2.0 1 N 122~~~ »KT5
S ~1~~~ Q864 3HW4 470 <30 1 ||S 122 ~~ o AJ74
E ~~332 #Q87 1HW4 470 30 1 ||E ~~~ 4 4 & J842
W ~~332 ~~~44




INE#FEE 2RBERF R

® ==> RT

#1: 9 BEA(101.6) #2: 17 2fE(86.04) #3 19 ?Efﬁl:iﬂb(% 59)

5 NS: B REEEAC) 5 4 NS: BRE# RE(F0) -20 16.97 : 3.03 Total VP: 78.17 Rank:
EW: #k BI% =EEH0) 20 EW: RF % BRZE0\BAC) -5 IMP:| 40 15 6
I .
# 11 s 52 6NN-1 50 Mean: 7DS7 1440 140 3 ||# 12 » K5 3NW4 430 Mean: 5NE-2 100 11.0 1
v A96 6NN-150 540 6NS6 990 100 2 v J85 3NE5 460 -430 3NW3 400 1.0 1
* KT Dif: 0 NS:-11 6DS7 940 9.0 3 + Q7532 Dif: -30 NS:-1 3NE3 400 1.0 1
» KJ832 IMP: 0 EW:11 6DS6 920 9.0 2 » 183 IMP: -1 EW:0 A 00 2
s 94 # JT863 A 00 2 ||a AT s 93 4HW4 420 0.0 1
v KJT5 v 743 3NS5 460 -20 1 ||w 9642 I v AK3 3NW4 430 0.0 3
¢ 93 * 862 6NS-1 50 110 4 |[|e A84 * KJ96 3NE4 430 0.0 4
& QT965 a 74 6NN-1 50 110 2 [ |a QJ2 » AK94 4ANW5 460 1.0 1
d ¢ VAN 4 AKQ7 7NN-2 100 -12.0 1 % ¢V AN 4 QJB742 3NE5 460 1.0 5
N ~6~~6 »Q82 7DS-2 4100 120 2 [N ~~~~~ v QT7 4ANW6 490 20 1
S ~7~~6 ¢AQ754 S ~~~~~ T 3NE6 490 20 1
E ~~~~~ ®A E 554 ~5 #1765 6CW6 920 -100 1
W o~~~ ~ ~ 554~5
# 13 » 987 4SW-1-100 Mean: 5SW-2 200 110 1 ||# 14 » J92 4HN-1 50 Mean: 4HN4 420 8.0 1
v QJ876 4SW4 620 -360 4SE-2 200 110 1 v AQJI75 3NS4-430 70 3NS4 430 8.0 1
+ Q3 Dif: -720 NS:-6 4SW-1 100 100 3 ¢ 97 Dif: 480 NS:8 4CS4 130 20 2
& QT8 IMP: -12 EW:-10 4SE-1 100 100 1 & Q3 IMP: 10 EW:3  3HN3 140 20 4
a JT65 N a AQ42 3NW-1 100 100 1 |[|a T73 ~ K864 3CS5 150 2.0 1
v A42 v KT5 A 00 2||eT4 v K862 3CS4 130 20 1
¢ J8 -l— * K962 4SW4 620 -6.0 10| |e AKT843 ¢ Q5 2HN3 140 20 1
& AKJ6 a 42 3NW3 600 -6.0 1 8 » T64 A 00 2
® VAN ,K3 4SW5 650 7.0 2 d o VAN o, AQS 5CS-1 50 3.0 1
N ~~~~~ v 93 N 4~3~1 3 4HN-1 50 3.0 5
S ~~~~~  AT754 S 4~3~1 ¢J62 3NS-2 100 -50 3
E ~~~43 89753 E ~~~~~ & AKJ752
wv ~~~43 W ~~~~~
# 15 a A 6NE6 990 Mean: 7CW-1 50 12.0 2 ||# 16 s Q6 2SE2 110 Mean: 3CE-3 300 100 1
v 7642 3NE6 490 -640 5CW6 420 6.0 2 v4 2SN-3 150 -180  3SW-2 200 9.0 1
¢ 98764 Dif: 500 NS:4 4SW6 480 40 4 ¢ QJ9653 Dif: -40 NS:1 2SW-1 100 7.0 1
» 183 IMP: 11 EW:8 3NE6 490 40 3 » K532 IMP: -1 EW:-2 2SW2 410 20 1
# KJ654 4 QT8 A 00 2 ||a 98742 & A5 2SN-2 100 2.0 1
v v AQT 6CW6 920 -70 3 || T73 — v AQ8 2SE2 410 20 1
*2 ¢ AQJTS 6SW6 980 -80 1 ||e AT2 * K874 2HS-2 4100 2.0 1
& AKJ7642 » Q9 6NE6 990 -80 5 » A764 2DS-2 100 2.0 1
do ¢ VAN 49732 B¢V AN 4 KIT3 3DS-3 4150 1.0 1
N ~~~~~ v KJ9853 N ~~~~~ v KJ9652 3DN-3 150 1.0 1
S ~~~~~ * K3 S ~~~~~ S 2SN-3 4150 1.0 1
E 64~56 &5 E ~3~32 &T98 2NE3 4150 1.0 1
W 64 ~55 ~3~22 2DN-3 4150 1.0 2
A 00 2
2SE4 470 0.0 1
3NXS-2 300 -3.0 1
3NE3 600 9.0 4
# 17 » K765 5DXN-1 100 Mean: 4HXW-2 300 9.0 1 |[|# 18 & AKQ753 2HN3 -140 Mean: 4SN6 680 4.0 2
v Q 4HXW-2 -300 -100  3DN3 110 50 2 v AQ92 4HN4 -620 520  4SN5 650 4.0 3
¢ AJT965 Dif: 400 NS:9 4HW-1 50 40 1 *3 Dif: 480 NS:3 4SN4 620 3.0 2
& KQ IMP: 9 EW:0 4DN-1 -50 20 3 & J7 IMP: 10 EW:9 4HS4 620 3.0 3
» AJ82 aT9 2NS-1 50 20 1 ||a 962 ~ J84 4HN4 620 3.0 1
v AK876 v JT95 A 00 2 ||eJT74 I v 53 3NS4 630 3.0 4
¢ 42 ¢ 87 5DXN-1 100 00 1 ||e JT95 * K72 A 00 2
& Ad a JT832 3NS-3 150 20 1 ||a Q5 a AK432 3SN6 230 7.0 1
B e VAN 4Q43 3HW4 470 -20 4 FOVAN o T 3SN5 200 -80 1
N ~3~1~ 9432 3HWS5 200 -30 3 |IN ~~ 444 ¢ K86 2HN4 170 8.0 2
S ~3~1~ +KQ3 2HW5 200 -30 1||S ~~ 44 4 ¢ AQ864 2HN3 140 9.0 1
E 3~3~1 &9765 5DXN-2 300 50 1||E ~~~~~ & T986
W 3 ~3~1 3NXS-3 500 90 1 |W ~~~~~
# 19 » KT8 3DN-2 100 Mean: 2DXS2 180 6.0 1 [|# 20 a6 4SW4 620 Mean: A 00 2
v 84 2HW3 140 -80 2DS2 90 50 1 v J9862 4SW4 620 -620 4SW4 620 0.0 17
¢ J532 Dif: -40 NS:-2 1NN1 90 50 1 ¢ 9863 Dif: 0 NS:0 4SE4 620 0.0 1
& AK63 IMP: -1 EW:1  3DN-1 50 1.0 1 & KQ3 IMP: 0 EW:0 4SW5 650 1.0 1
4 Q73 » AJ96 A 00 2 ||a KQJT952 a A84 3NE5 660 -1.0 1
v KQ753 v T96 3DN-2 100 1.0 2 [|e Ad _I_ v Q73
* 97 ¢ AKT 2HW2 110 10 6 ||e 5 * KQT2
& T92 & J54 2CN-2 100 1.0 1 & T65 & A97
¢V BN 4542 2HW3 140 20 4 FOVABN o 73
N ~2~~~ 9AJ2 1NE3 150 2.0 1 N 122~~~ »KT5
S ~1~~~ Q864 3HW4 470 <30 1 ||S 122 ~~ o AJ74
E ~~332 #Q87 1HW4 470 30 1 ||E ~~~ 4 4 & J842
W ~~332 ~~~44




11#FXF > FAHERF 2

® ==> RT

#1: 9 BEA(101.6) #2: 17 2fE(86.04) #3 19 55}'4%(83 59)

6 NS: (B80) 0 22 NS: (BAC) 0 12.00 : 0.00 Total VP: 49.60 Rank:
EW: (FHC) 0 EW: (B10)0 IMP:| 0 0 20
I .
# 11 a 52 Mean: 7DS7 1440 140 3 [[# 12 » K5 Mean: 5NE-2 100 110 1
v A96 540  6NS6 990 100 2 v J85 4430  3NW3 400 1.0 1
o KJT Dif: NS:0 6DS7 940 9.0 3 ¢ Q7532 Dif: NS:0 3NE3 400 1.0 1
& KJ832 IMP: EW:0 6DS6 920 9.0 2 » 183 IMP: EW:0 A 00 2
s 94 » JT863 A 00 2 ||a AT s 93 4HW4 420 0.0 1
v KJT5 v 743 3NS5 460 -20 1 ||w 9642 I v AK3 3NW4 430 0.0 3
¢ 93 * 862 6NS-1 50 110 4 |[|e A84 * KJ96 3NE4 430 0.0 4
& QT965 a 74 6NN-1 50 110 2 [ |a QJ2 » AK94 ANW5 460 1.0 1
% ¢ VAN 4 AKQ7 7NN-2 100 -12.0 1 % ¢ VAN 4 Q8742 3NE5 460 1.0 5
N ~6~~6 »Q82 7DS-2 4100 120 2 [N ~~~~~ v QT7 4ANW6 490 20 1
S ~7~~6 ¢AQ754 S ~~~~~ T 3NE6 490 20 1
E ~~~~~ ®A E 554 ~5 #1765 6CW6 920 -100 1
W~~~ ~~ 554~5
# 13 » 987 Mean: 5SW-2 200 110 1 ||# 14 » J92 Mean: 4HN4 420 8.0 1
v QJ876 -360  4SE-2 200 110 1 v AQJI75 70  3NS4 430 8.0 1
+ Q3 Dif: NS:0 4SW-1 100 100 3 ¢ 97 Dif: NS:0 4Cs4 130 20 2
& QT8 IMP: EW:0 4SE-1 100 100 1 & Q3 IMP: EW:0 3HN3 140 20 4
a JT65 N a AQ42 3NW-1 100 100 1 ||a T73 ~ K864 3CS5 150 2.0 1
v A42 v KT5 A 00 2||eT4 v K862 3CS4 130 20 1
¢ J8 -l— * K962 4SW4 620 -6.0 10| |e AKT843 ¢ Q5 2HN3 140 20 1
& AKJ6 a 42 3NW3 600 -6.0 1 8 » T64 A 00 2
® VAN ,K3 4SW5 650 7.0 2 ¢ VBN ,AQS 5CS-1 50 3.0 1
N ~~~~~ v 93 N 4~3~1 3 4HN-1 50 3.0 5
S ~~~~~  AT754 S 4~3~1 ¢J62 3NS-2 100 -50 3
E ~~~43 89753 E ~~~~~ & AKJ752
W ~~~43 W o~~~
# 15 a A Mean: 7CW-1 50 12.0 2 ||# 16 s Q6 Mean: 3CE-3 300 100 1
v 7642 640 5CW6 420 6.0 2 v4 180  3SW-2 200 9.0 1
¢ 98764 Dif: NS:0 4sSwe 480 40 4 ¢ QJ9653 Dif: NS:0 2SW-1 100 7.0 1
» 183 IMP: EW:0 3NE6 490 40 3 » K532 IMP: EW:0 2Sw2 410 20 1
# KJ654 4 QT8 A 00 2 ||a 98742 & A5 2SN-2 100 2.0 1
v v AQT 6CW6 920 -70 3 || T73 — v AQ8 2SE2 410 20 1
*2 ¢ AQJTS 6SW6 980 -80 1 ||e AT2 * K874 2HS-2 4100 2.0 1
& AKJ7642 » Q9 6NE6 990 -80 5 » A764 2DS-2 100 2.0 1
do ¢ VAN 49732 B¢V AN 4 KIT3 3DS-3 4150 1.0 1
N ~~~~~ v KJ9853 N ~~~~~ v KJ9652 3DN-3 150 1.0 1
S ~~~~~ * K3 S ~~~~~ S 2SN-3 4150 1.0 1
E 64~56 &5 E ~3~32 &T98 2NE3 4150 1.0 1
W 64 ~55 ~3~22 2DN-3 4150 1.0 2
A 00 2
2SE4 470 0.0 1
3NXS-2 300 -3.0 1
3NE3 600 9.0 4
# 17 » K765 Mean: 4HXW-2 300 9.0 1 ||# 18 & AKQ753 Mean: 4SN6 680 4.0 2
v Q 100  3DN3 110 50 2 v AQ92 520  4SN5 650 4.0 3
¢ AJT965 Dif: NS:0 4HW-1 50 40 1 *3 Dif: NS:0 4SN4 620 3.0 2
& KQ IMP: EW:0 4DN-1 -50 20 3 & J7 IMP: EW:0 4HS4 620 3.0 3
» AJ82 aT9 2NS-1 50 20 1 ||a 962 ~ J84 4HN4 620 3.0 1
v AK876 v JT95 A 00 2 ||eJT74 I v 53 3NS4 630 3.0 4
¢ 42 ¢ 87 5DXN-1 100 00 1 ||e JT95 * K72 A 00 2
& Ad a JT832 3NS-3 150 20 1 ||a Q5 a AK432 3SN6 230 7.0 1
B e VAN 4Q43 3HW4 470 -20 4 FOVAN o T 3SN5 200 -80 1
N ~3~1~ 9432 3HWS5 200 -30 3 |IN ~~ 444 ¢ K86 2HN4 170 8.0 2
S ~3~1~ +KQ3 2HW5 200 -30 1||S ~~ 44 4 ¢ AQ864 2HN3 140 9.0 1
E 3~3~1 &9765 5DXN-2 300 50 1||E ~~~~~ & T986
W 3 ~3~1 3NXS-3 500 90 1 |W ~~~~~
# 19 4 KT8 Mean: 2DXS2 180 60 1 |[|# 20 46 Mean: A 00 2
v 84 80  2DS2 90 50 1 v J9862 620  4SW4 620 0.0 17
¢ J532 Dif: NS:0 1NN1 90 50 1 « 9863 Dif: NS:0 4SE4 620 0.0 1
& AK63 IMP: EW:0 3DN-1 50 1.0 1 & KQ3 IMP: EW:0 4SW5 650 1.0 1
4 Q73 » AJ96 A 00 2 ||a KQJT952 a A84 3NE5 660 -1.0 1
v KQ753 v T96 3DN-2 100 1.0 2 [|e Ad _I_ v Q73
* 97 ¢ AKT 2HW2 110 10 6 ||e 5 * KQT2
& T92 & J54 2CN-2 100 1.0 1 & T65 & A97
¢V BN 4542 2HW3 140 20 4 FOVABN o 73
N ~2~~~ 9AJ2 1NE3 150 2.0 1 N 122~~~ »KT5
S ~1~~~ Q864 3HW4 470 <30 1 ||S 122 ~~ o AJ74
E ~~332 #Q87 1HW4 470 30 1 ||E ~~~ 4 4 & J842
W ~~332 ~~~44




INE#FEE 2RBERF R

® ==> RT

#1: 9 BEA(101.6) #2: 17 2fE(86.04) #3 19 55}'4%(83 59)

7 NS: BEZE BIrHGEI0) 15 16 NS: E30& MERE(BAC) 12 11.50 : 8.50 | Total VP: 77.32 Rank:
EW: HEE BHEEIC) -12 EW: FREISC SBER(BRO) -1 IMP:| 10 6 8
I .
# 11 52 6DS6 920 Mean: 7DS7 1440 140 3 |[|# 12 s K5 3NW3 -400 Mean: 5NE-2 100 110 1
v A96 6NS6 990 540 6NS6 990 100 2 v J85 3NW4 -430 -430 3NW3 400 1.0 1
* KT Dif: -70 NS:9 6DS7 940 9.0 3 + Q7532 Dif: 30 NS:1 3NE3 400 1.0 1
» KJ832 IMP: -2 EW:-10 6DS6 920 9.0 2 » 183 IMP:1 EW:0 A 00 2
s 94 # JT863 A 00 2 ||a AT s 93 4HW4 420 0.0 1
v KJT5 v 743 3NS5 460 -20 1 ||w 9642 I v AK3 3NW4 430 0.0 3
¢ 93 * 862 6NS-1 50 110 4 |[|e A84 * KJ96 3NE4 430 0.0 4
& QT965 a 74 6NN-1 50 110 2 [ |a QJ2 » AK94 4ANW5 460 1.0 1
d ¢ VAN 4 AKQ7 7NN-2 100 -12.0 1 % ¢V AN 4 QJB742 3NE5 460 1.0 5
N ~6~~6 »Q82 7DS-2 4100 120 2 [N ~~~~~ v QT7 4ANW6 490 20 1
S ~7~~6 ¢AQ754 S ~~~~~ T 3NE6 490 20 1
E ~~~~~ ®A E 554 ~5 #1765 6CW6 920 -100 1
W o~~~ ~ ~ 554~5
# 13 » 987 4SW-1 100 Mean: 5SW-2 200 110 1 ||# 14 » J92 3HN3 140 Mean: 4HN4 420 8.0 1
v QJ876 4SE-1100 -360 4SE-2 200 110 1 v AQJI75 4HN-1-50 70  3NS4 430 8.0 1
+ Q3 Dif: 0 NS:10 4SW-1 100 100 3 ¢ 97 Dif: 190 NS:2 4CS4 130 20 2
& QT8 IMP: 0 EW:-10 4SE-1 100 100 1 & Q3 IMP: 5 EW:3 3HN3 140 20 4
a JT65 N a AQ42 3NW-1 100 100 1 |[|a T73 ~ K864 3CS5 150 2.0 1
v A42 v KT5 A 00 2||eT4 v K862 3CS4 130 20 1
¢ J8 -l— * K962 4SW4 620 -6.0 10| |e AKT843 ¢ Q5 2HN3 140 20 1
& AKJ6 a 42 3NW3 600 -6.0 1 8 » T64 A 00 2
® VAN ,K3 4SW5 650 7.0 2 d o VAN o, AQS 5CS-1 50 3.0 1
N ~~~~~ v 93 N 4~3~1 3 4HN-1 50 3.0 5
S ~~~~~ o AT754 S 4~3~1 ¢J62 3NS-2 100 -50 3
E ~~~43 89753 E ~~~~~ & AKJ752
wv ~~~43 W ~~~~~
# 15 a A 6NE6 -990 Mean: 7CW-1 50 12.0 2 ||# 16 s Q6 2HS-2 -100 Mean: 3CE-3 300 100 1
v 7642 6SW6 -980 -640 5CW6 420 6.0 2 v4 2NE3 -150 -180  3SW-2 200 9.0 1
¢ 98764 Dif: 10 NS:-8 4SW6 480 40 4 ¢ QJ9653 Dif: 50 NS:2 2SW-1 100 7.0 1
» 183 IMP: 0 EW:8 3NE6 490 40 3 » K532 IMP: 2 EW:-1  2SW2 410 20 1
# KJ654 4 QT8 A 00 2 ||a 98742 & A5 2SN-2 100 2.0 1
v v AQT 6CW6 920 -70 3 || T73 — v AQ8 2SE2 410 20 1
*2 ¢ AQJTS 6SW6 980 -80 1 ||e AT2 * K874 2HS-2 4100 2.0 1
& AKJ7642 » Q9 6NE6 990 -80 5 » A764 2DS-2 100 2.0 1
do ¢ VAN 49732 B¢V AN 4 KIT3 3DS-3 4150 1.0 1
N ~~~~~ v KJ9853 N ~~~~~ v KJ9652 3DN-3 150 1.0 1
S ~~~~~ * K3 S ~~~~~ S 2SN-3 4150 1.0 1
E 64~56 &5 E ~3~32 &T98 2NE3 4150 1.0 1
W 64 ~55 ~3~22 2DN-3 4150 1.0 2
A 00 2
2SE4 470 0.0 1
3NXS-2 300 -3.0 1
3NE3 600 9.0 4
# 17 » K765 2HW5 -200 Mean: 4HXW-2 300 9.0 1 ||# 18 & AKQ753 3NS4 630 Mean: 4SN6 680 4.0 2
v Q 4DN-1-50 -100  3DN3 110 50 2 v AQ92 3NS4 630 520 4SN5 650 4.0 3
¢ AJT965 Dif: -150 NS:-3 4HW-1 50 40 1 *3 Dif: 0 NS:3 4SN4 620 3.0 2
& KQ IMP: -4 EW:-2 4DN-1 -50 20 3 & J7 IMP: 0 EW:-3 4HS4 620 3.0 3
» AJ82 aT9 2NS-1 50 20 1 ||a 962 ~ J84 4HN4 620 3.0 1
v AK876 v JT95 A 00 2 ||eJT74 I v 53 3NS4 630 3.0 4
¢ 42 ¢ 87 5DXN-1 100 00 1 ||e JT95 * K72 A 00 2
& Ad a JT832 3NS-3 150 20 1 ||a Q5 a AK432 3SN6 230 7.0 1
B e VAN 4Q43 3HW4 470 -20 4 FOVAN o T 3SN5 200 -80 1
N ~3~1~ 9432 3HWS5 200 -30 3 |IN ~~ 444 ¢ K86 2HN4 170 8.0 2
S ~3~1~ +KQ3 2HW5 200 -30 1||S ~~ 44 4 ¢ AQ864 2HN3 140 9.0 1
E 3~3~1 &9765 5DXN-2 300 50 1||E ~~~~~ & T986
W 3 ~3~1 3NXS-3 500 90 1 |W ~~~~~
# 19 » KT8 2HW2 -110 Mean: 2DXS2 180 6.0 1 [|# 20 a6 4SW4 -620 Mean: A 00 2
v 84 3HW4 -170 -80  2DS2 90 50 1 v J9862 4SW4 -620 -620 4SW4 620 0.0 17
¢ J532 Dif: 60 NS:-1  1NN1 90 50 1 ¢ 9863 Dif: 0 NS:0 4SE4 620 0.0 1
& AK63 IMP: 2 EW:3 3DN-1 50 1.0 1 » KQ3 IMP: 0 EW:0 4SW5 650 1.0 1
4 Q73 » AJ96 A 00 2 ||a KQJT952 a A84 3NE5 660 -1.0 1
v KQ753 v T96 3DN-2 100 1.0 2 [|e Ad _I_ v Q73
* 97 ¢ AKT 2HW2 110 10 6 ||e 5 * KQT2
& T92 & J54 2CN-2 100 1.0 1 & T65 » A97
¢V BN 4542 2HW3 140 20 4 FOVAN 73
N ~2~~~ 9AJ2 1NE3 150 2.0 1 N 122~~~ »KT5
S ~1~~~ Q864 3HW4 470 <30 1 ||S 122 ~~ o AJ74
E ~~332 #Q87 1HW4 470 30 1 ||E ~~~ 4 4 & J842
W ~~332 ~~~44




INE#FEE 2RBERF R

® ==> RT

#1: 9 BEA(101.6) #2: 17 2fE(86.04) #3 19 55}'4%(83 59)

8 NS: BREEE #AT-HEGHO) 38 10 NS: 3855 5 FE(BAC) 5 | 18.15 : 1.85 Total VP: 67.47 Rank:
EW: iR RFEEBEAC) -5 EW: [RE1H Z&UE(BAO) -3 IMP:| 40 8 16
I .
# 11 52 6DS7 940 Mean: 7DS7 1440 140 3 |[|# 12 s K5 5NE-2 100 Mean: 5NE-2 100 110 1
v A96 3NS5460 540 6NS6 990 100 2 v J85 3NE5 -460 -430 3NW3 400 1.0 1
* KT Dif: 480 NsS:9 6DS7 940 9.0 3 + Q7532 Dif: 560 NS:11 3NE3 400 1.0 1
» KJ832 IMP: 10 EW:2 6DS6 920 9.0 2 » 183 IMP: 11 EW:1 A 00 2
s 94 # JT863 A 00 2 ||a AT s 93 4HW4 420 0.0 1
v KJT5 v 743 3NS5 460 -20 1 ||w 9642 I v AK3 3NW4 430 0.0 3
¢ 93 * 862 6NS-1 50 110 4 |[|e A84 * KJ96 3NE4 430 0.0 4
& QT965 a 74 6NN-1 50 110 2 [ |a QJ2 » AK94 4ANW5 460 1.0 1
d ¢ VAN 4 AKQ7 7NN-2 100 -12.0 1 % ¢V AN 4 QJB742 3NE5 460 1.0 5
N ~6~~6 »Q82 7DS-2 4100 120 2 [N ~~~~~ v QT7 4ANW6 490 20 1
S ~7~~6 ¢AQ754 S ~~~~~ T 3NE6 490 20 1
E ~~~~~ ®A E 554 ~5 #1765 6CW6 920 -100 1
W o~~~ ~ ~ 554~5
# 13 » 987 5SW-2 200 Mean: 5SW-2 200 110 1 ||# 14 » J92 2HN3 140 Mean: 4HN4 420 8.0 1
v QJ876 3NW-1100 -360 4SE-2 200 110 1 v AQJI75 3CS5150 70 3NS4 430 8.0 1
+ Q3 Dif: 100 NS:11  4SW-1 100 100 3 ¢ 97 Dif: 10 NS:2 4CS4 130 20 2
& QT8 IMP: 3 EW:-10 4SE-1 100 100 1 & Q3 IMP: 0 EW:-2 3HN3 140 20 4
a JT65 N a AQ42 3NW-1 100 100 1 |[|a T73 ~ K864 3CS5 150 2.0 1
v A42 v KT5 A 00 2 T4 v K862 3CS4 130 20 1
¢ J8 -l— * K962 4SW4 620 -6.0 10| |e AKT843 ¢ Q5 2HN3 140 20 1
& AKJ6 a 42 3NW3 600 -6.0 1 8 » T64 A 00 2
® VAN ,K3 4SW5 650 7.0 2 d o VAN o, AQS 5CS-1 50 3.0 1
N ~~~~~ v 93 N 4~3~1 3 4HN-1 50 3.0 5
S ~~~~~ o AT754 S 4~3~1 ¢J62 3NS-2 100 -50 3
E ~~~43 89753 E ~~~~~ & AKJ752
wv ~~~43 W ~~~~~
# 15 a A 4SW6 -480 Mean: 7CW-1 50 12.0 2 ||# 16 s Q6 3DS-3 -150 Mean: 3CE-3 300 100 1
v 7642 5CW6 -420 -640 5CW6 420 6.0 2 v4 3NXS-2 -300 -180  3SW-2 200 9.0 1
¢ 98764 Dif: -60 NS:4 4SWe6 480 40 4 ¢ QJ9653 Dif: 150 NS:1  2SW-1 100 7.0 1
» 183 IMP: -2 EW:-6 3NE6 490 40 3 » K532 IMP: 4 EW:3 2SW2 410 20 1
# KJ654 4 QT8 A 00 2 ||a 98742 & A5 2SN-2 100 2.0 1
v v AQT 6CW6 920 -70 3 || T73 — v AQ8 2SE2 410 20 1
*2 ¢ AQJTS 6SW6 980 -80 1 ||e AT2 * K874 2HS-2 4100 2.0 1
& AKJ7642 » Q9 6NE6 990 -80 5 ||aQJ » A764 2DS-2 100 2.0 1
do ¢ VAN 49732 B¢V AN 4 KIT3 3DS-3 4150 1.0 1
N ~~~~~ v KJ9853 N ~~~~~ v KJ9652 3DN-3 150 1.0 1
S ~~~~~ * K3 S ~~~~~ S 2SN-3 4150 1.0 1
E 64~56 &5 E ~3~32 &T98 2NE3 4150 1.0 1
W 64 ~55 ~3~22 2DN-3 4150 1.0 2
A 00 2
2SE4 470 0.0 1
3NXS-2 300 -3.0 1
3NE3 600 9.0 4
# 17 » K765 3HW5 -200 Mean: 4HXW-2 300 9.0 1 ||# 18 & AKQ753 4SN5 650 Mean: 4SN6 680 4.0 2
v Q 4HW-150 -100 3DN3 110 50 2 v AQ92 2HN4 170 520  4SN5 650 4.0 3
¢ AJT965 Dif: -250 NS:-3 4HW-1 50 40 1 *3 Dif: 480 NS:4 4SN4 620 3.0 2
& KQ IMP: -6 EW:-4 4DN-1 -50 20 3 & J7 IMP: 10 EW:8 4HS4 620 3.0 3
» AJ82 aT9 2NS-1 50 20 1 ||a 962 ~ J84 4HN4 620 3.0 1
v AK876 v JT95 A 00 2 ||eJT74 I v 53 3NS4 630 3.0 4
¢ 42 ¢ 87 5DXN-1 100 00 1 ||e JT95 * K72 A 00 2
& Ad a JT832 3NS-3 150 20 1 ||a Q5 a AK432 3SN6 230 7.0 1
B e VAN 4Q43 3HW4 470 -20 4 FOVAN o T 3SN5 200 -80 1
N ~3~1~ 9432 3HWS5 200 -30 3 |IN ~~ 444 ¢ K86 2HN4 170 8.0 2
S ~3~1~ +KQ3 2HW5 200 -30 1||S ~~ 44 4 ¢ AQ864 2HN3 140 9.0 1
E 3~3~1 &9765 5DXN-2 300 50 1||E ~~~~~ & T986
W 3 ~3~1 3NXS-3 500 90 1 |W ~~~~~
# 19 » KT8 2HW2 -110 Mean: 2DXS2 180 6.0 1 [|# 20 a6 4SW4 -620 Mean: A 00 2
v 84 1NE3 -150 -80 2DS2 90 50 1 v J9862 3NE5 -660 -620  4SW4 620 0.0 17
¢ J532 Dif: 40 NS:-1  1NN1 90 50 1 ¢ 9863 Dif: 40 NS:0 4SE4 620 0.0 1
& AK63 IMP: 1 EW:2 3DN-1 50 1.0 1 & KQ3 IMP: 1 EW:1 4SW5 650 1.0 1
4 Q73 » AJ96 A 00 2 ||a KQJT952 a A84 3NE5 660 -1.0 1
v KQ753 v T96 3DN-2 100 1.0 2 [|e Ad _I_ v Q73
* 97 ¢ AKT 2HW2 110 10 6 ||e 5 * KQT2
& T92 & J54 2CN-2 100 1.0 1 & T65 & A97
¢V BN 4542 2HW3 140 20 4 FOVABN o 73
N ~2~~~ 9AJ2 1NE3 150 2.0 1 N 122~~~ »KT5
S ~1~~~ Q864 3HW4 470 <30 1 ||S 122 ~~ o AJ74
E ~~332 #Q87 1HW4 470 30 1 ||E ~~~ 4 4 & J842
W ~~332 ~~~44




INE#FEE 2RBERF R

® ==> RT

#1: 9 BEA(101.6) #2: 17 2fE(86.04) #3 19 55}'4%(83 59)

9 NS: ¥3EE FrEMGHO) -12 17 NS: Bi##E ENEB(%IC) 8 3.82 : 16.18| Total VP: 101.60 Rank:
EW: ZEREJE BEKEAC) -8 EW: BAtE A S15125(BRO) 12 IMP:| 4 25 1
I .
# 11 52 7DS7 1440 Mean: 7DS7 1440 140 3 |[|# 12 s K5 3NE5 -460 Mean: 5NE-2 100 110 1
v A96 7DS7 1440 540  6NS6 990 100 2 v J85 3NE4 -430 -430 3NW3 400 1.0 1
* KIT Dif: 0 NS:14 6DS7 940 9.0 3 + Q7532 Dif: -30 NS:-1 3NE3 400 1.0 1
» KJ832 IMP: 0 EW:-14 6DS6 920 9.0 2 » 183 IMP: -1 EW:0 A 00 2
s 94 # JT863 A 00 2 ||a AT s 93 4HW4 420 0.0 1
v KJT5 v 743 3NS5 460 -20 1 ||w 9642 I v AK3 3NW4 430 0.0 3
¢ 93 * 862 6NS-1 50 110 4 |[|e A84 * KJ96 3NE4 430 0.0 4
& QT965 a 74 6NN-1 50 110 2 [ |a QJ2 » AK94 4ANW5 460 1.0 1
d ¢ VAN 4 AKQ7 7NN-2 100 -12.0 1 % ¢V AN 4 QJB742 3NE5 460 1.0 5
N ~6~~6 »Q82 7DS-2 4100 120 2 [N ~~~~~ v QT7 4ANW6 490 20 1
S ~7~~6 ¢AQ754 S ~~~~~ T 3NE6 490 20 1
E ~~~~~ ®A E 554 ~5 #1765 6CW6 920 -100 1
W o~~~ ~ ~ 554~5
# 13 » 987 4SW4 -620 Mean: 5SW-2 200 110 1 ||# 14 » J92 4CS4 130 Mean: 4HN4 420 8.0 1
v QJ876 4SW4 -620 -360  4SE-2 200 110 1 v AQJI75 3HN3140 70  3NS4 430 8.0 1
+ Q3 Dif: 0 NS:-6 4SW-1 100 100 3 ¢ 97 Dif: 10 NS:2 4CS4 130 20 2
& QT8 IMP: 0 EW:6 4SE-1 100 100 1 & Q3 IMP: 0 EW:-2 3HN3 140 20 4
a JT65 N a AQ42 3NW-1 100 100 1 |[|a T73 ~ K864 3CS5 150 2.0 1
v A42 v KT5 A 00 2||eT4 v K862 3CS4 130 20 1
¢ J8 -l— * K962 4SW4 620 -6.0 10| |e AKT843 ¢ Q5 2HN3 140 20 1
& AKJ6 a 42 3NW3 600 -6.0 1 8 » T64 A 00 2
® VAN ,K3 4SW5 650 7.0 2 d o VAN o, AQS 5CS-1 50 3.0 1
N ~~~~~ v 93 N 4~3~1 3 4HN-1 50 3.0 5
S ~~~~~ o AT754 S 4~3~1 ¢J62 3NS-2 100 -50 3
E ~~~43 89753 E ~~~~~ & AKJ752
wv ~~~43 W ~~~~~
# 15 a A 6CW6 -920 Mean: 7CW-1 50 12.0 2 ||# 16 s Q6 3NE3 -600 Mean: 3CE-3 300 100 1
v 7642 3NE6 -490 -640 5CW6 420 6.0 2 v4 2SE4 -170 -180  3SW-2 200 9.0 1
¢ 98764 Dif: -430 NS:-7 4SW6 480 40 4 ¢ QJ9653 Dif: -430 NS:-9 2SW-1 100 7.0 1
» 183 IMP: -10 EW:-4 3NE6 490 40 3 » K532 IMP: -10 EW:0 2SW2 410 20 1
# KJ654 4 QT8 A 00 2 ||a 98742 & A5 2SN-2 100 2.0 1
v v AQT 6CW6 920 -70 3 || T73 — v AQ8 2SE2 410 20 1
*2 ¢ AQJTS 6SW6 980 -80 1 ||e AT2 * K874 2HS-2 4100 2.0 1
& AKJ7642 » Q9 6NE6 990 -80 5 » A764 2DS-2 100 2.0 1
do ¢ VAN 49732 B¢V AN 4 KIT3 3DS-3 4150 1.0 1
N ~~~~~ v KJ9853 N ~~~~~ v KJ9652 3DN-3 150 1.0 1
S ~~~~~ * K3 S ~~~~~ S 2SN-3 4150 1.0 1
E 64~56 &5 E ~3~32 &T98 2NE3 4150 1.0 1
W 64 ~55 ~3~22 2DN-3 4150 1.0 2
A 00 2
2SE4 470 0.0 1
3NXS-2 300 -3.0 1
3NE3 600 9.0 4
# 17 » K765 2NS-1-50 Mean: 4HXW-2 300 9.0 1 [|# 18 & AKQ753 3SN5 200 Mean: 4SN6 680 4.0 2
v Q 3DN3 110 -100  3DN3 110 50 2 v AQ92 2HN4 170 520  4SN5 650 4.0 3
¢ AJT965 Dif: -160 NS:2 4HW-1 50 40 1 *3 Dif: 30 NS:-8 4SN4 620 3.0 2
& KQ IMP: -4 EW:-5 4DN-1 -50 20 3 & J7 IMP: 1 EW:8 4HS4 620 3.0 3
» AJ82 aT9 2NS-1 50 20 1 ||a 962 ~ J84 4HN4 620 3.0 1
v AK876 v JT95 A 00 2 ||eJT74 | v 53 3NS4 630 3.0 4
¢ 42 ¢ 87 5DXN-1 100 00 1 ||e JT95 * K72 A 00 2
& Ad a JT832 3NS-3 150 20 1 ||a Q5 a AK432 3SN6 230 7.0 1
B e VAN 4Q43 3HW4 470 -20 4 FOVAN o T 3SN5 200 -80 1
N ~3~1~ 9432 3HWS5 200 -30 3 |IN ~~ 444 ¢ K86 2HN4 170 8.0 2
S ~3~1~ +KQ3 2HW5 200 -30 1||S ~~ 44 4 ¢ AQ864 2HN3 140 9.0 1
E 3~3~1 &9765 5DXN-2 300 50 1||E ~~~~~ & T986
W 3 ~3~1 3NXS-3 500 90 1 |W ~~~~~
# 19 » KT8 3DN-1-50 Mean: 2DXS2 180 6.0 1 [|# 20 a6 4SW4 -620 Mean: A 00 2
v 84 1HW4 -170 -80  2DS2 90 50 1 v J9862 4SW4 -620 -620 4SW4 620 0.0 17
¢ J532 Dif: 120 NS:1  1NN1 90 50 1 ¢ 9863 Dif: 0 NS:0 4SE4 620 0.0 1
& AK63 IMP: 3 EW:3 3DN-1 50 1.0 1 & KQ3 IMP: 0 EW:0 4SW5 650 1.0 1
4 Q73 » AJ96 A 00 2 ||a KQJT952 a A84 3NE5 660 -1.0 1
v KQ753 v T96 3DN-2 100 1.0 2 [|e Ad _I_ v Q73
* 97 ¢ AKT 2HW2 110 10 6 ||e 5 * KQT2
& T92 & J54 2CN-2 100 1.0 1 & T65 & A97
¢V BN 4542 2HW3 140 20 4 FOVABN o 73
N ~2~~~ 9AJ2 1NE3 150 2.0 1 N 122~~~ »KT5
S ~1~~~ ¢Q864 3HW4 470 30 1 ||S 122 ~~ o AJ74
E ~~332 #Q87 1HW4 470 30 1 ||E ~~~ 4 4 & J842
W ~~332 ~~~44




INE#FEE 2RBERF R

® ==> RT

#1: 9 BEA(101.6) #2: 17 2fE(86.04) #3 19 55}'4%(83 59)

1 O NS: B3$E%E BEEHFEHC) 5 8 NS: FREE MTH#(5H0) 38 1.85 18.15| Total VP: 13.85 Rank:
EW: BEEHH BECEEI0) -38 EW: ZiEE RZE(BAC) -5 IMP:| 8 40 21
I .
# 11 52 6DS7 -940 Mean: 7DS7 1440 140 3 |[|# 12 s K5 5NE-2 -100 Mean: 5NE-2 100 110 1
v A96 3NS5 -460 540  6NS6 990 100 2 v J85 3NE5 460 -430 3NW3 400 1.0 1
* KT Dif: -480 NsS:-2 6DS7 940 9.0 3 + Q7532 Dif: -560 NS:-1 3NE3 400 1.0 1
» KJ832 IMP: -10 EW:-9 6DS6 920 9.0 2 » 183 IMP: -11 EW:-11 A 00 2
s 94 # JT863 A 00 2 ||a AT s 93 4HW4 420 0.0 1
v KJT5 v 743 3NS5 460 -20 1 ||w 9642 I v AK3 3NW4 430 0.0 3
¢ 93 * 862 6NS-1 50 110 4 |[|e A84 * KJ96 3NE4 430 0.0 4
& QT965 a 74 6NN-1 50 110 2 [ |a QJ2 » AK94 4ANW5 460 1.0 1
d ¢ VAN 4 AKQ7 7NN-2 100 -12.0 1 % ¢V AN 4 QJB742 3NE5 460 1.0 5
N ~6~~6 »Q82 7DS-2 4100 120 2 [N ~~~~~ v QT7 4ANW6 490 20 1
S ~7~~6 ¢AQ754 S ~~~~~ T 3NE6 490 20 1
E ~~~~~ ®A E 554 ~5 #1765 6CW6 920 -100 1
W o~~~ ~ ~ 554~5
# 13 » 987 5SW-2 -200 Mean: 5SW-2 200 110 1 ||# 14 » J92 2HN3 -140 Mean: 4HN4 420 8.0 1
v QJ876 3NW-1-100 -360 4SE-2 200 110 1 v AQJI75 3CS5-150 70 3NS4 430 8.0 1
+ Q3 Dif: -100 NS:10 4SW-1 100 100 3 ¢ 97 Dif: 10 NS:2 4CS4 130 20 2
& QT8 IMP: -3 EW:-11 4SE-1 100 100 1 & Q3 IMP: 0 EW:-2 3HN3 140 20 4
a JT65 N a AQ42 3NW-1 100 100 1 |[|a T73 ~ K864 3CS5 150 2.0 1
v A42 v KT5 A 00 2 T4 v K862 3CS4 130 20 1
¢ J8 -l— * K962 4SW4 620 -6.0 10| |e AKT843 ¢ Q5 2HN3 140 20 1
& AKJ6 a 42 3NW3 600 -6.0 1 8 » T64 A 00 2
® VAN ,K3 4SW5 650 7.0 2 d o VAN o, AQS 5CS-1 50 3.0 1
N ~~~~~ v 93 N 4~3~1 3 4HN-1 50 3.0 5
S ~~~~~ o AT754 S 4~3~1 ¢J62 3NS-2 100 -50 3
E ~~~43 89753 E ~~~~~ & AKJ752
wv ~~~43 W ~~~~~
# 15 a A 4SW6 480 Mean: 7CW-1 50 12.0 2 ||# 16 s Q6 3DS-3150 Mean: 3CE-3 300 100 1
v 7642 5CW6 420 -640 5CW6 420 6.0 2 v4 3NXS-2300 -180  3SW-2 200 9.0 1
¢ 98764 Dif: 60 NS:6 4SW6 480 40 4 ¢ QJ9653 Dif: -150 NS:-3 2SW-1 100 7.0 1
» 183 IMP: 2 EW:-4 3NE6 490 40 3 » K532 IMP: -4 EW:-1 2SW2 410 20 1
# KJ654 4 QT8 A 00 2 ||a 98742 & A5 2SN-2 100 2.0 1
v v AQT 6CW6 920 -70 3 || T73 — v AQ8 2SE2 410 20 1
*2 ¢ AQJTS 6SW6 980 -80 1 ||e AT2 * K874 2HS-2 4100 2.0 1
& AKJ7642 » Q9 6NE6 990 -80 5 ||aQJ » A764 2DS-2 100 2.0 1
do ¢ VAN 49732 B¢V AN 4 KIT3 3DS-3 4150 1.0 1
N ~~~~~ v KJ9853 N ~~~~~ v KJ9652 3DN-3 150 1.0 1
S ~~~~~ * K3 S ~~~~~ S 2SN-3 4150 1.0 1
E 64~56 &5 E ~3~32 &T98 2NE3 4150 1.0 1
W 64 ~55 ~3~22 2DN-3 4150 1.0 2
A 00 2
2SE4 470 0.0 1
3NXS-2 300 -3.0 1
3NE3 600 9.0 4
# 17 » K765 3HW5 200 Mean: 4HXW-2 300 9.0 1 ||# 18 & AKQ753 4SN5 -650 Mean: 4SN6 680 4.0 2
v Q 4HW-1 -50 -100  3DN3 110 50 2 v AQ92 2HN4 -170 520  4SN5 650 4.0 3
¢ AJT965 Dif: 250 NS:4 4HW-1 50 40 1 *3 Dif: -480 NS:-8 4SN4 620 3.0 2
& KQ IMP: 6 EW:3 4DN-1 -50 20 3 & J7 IMP: -10 EW:-4 4HS4 620 3.0 3
» AJ82 aT9 2NS-1 50 20 1 ||a 962 ~ J84 4HN4 620 3.0 1
v AK876 v JT95 A 00 2 ||eJT74 I v 53 3NS4 630 3.0 4
¢ 42 ¢ 87 5DXN-1 100 00 1 ||e JT95 * K72 A 00 2
& Ad a JT832 3NS-3 150 20 1 ||a Q5 a AK432 3SN6 230 7.0 1
B e VAN 4Q43 3HW4 470 -20 4 FOVAN o T 3SN5 200 -80 1
N ~3~1~ 9432 3HWS5 200 -30 3 |IN ~~ 444 ¢ K86 2HN4 170 8.0 2
S ~3~1~ +KQ3 2HW5 200 -30 1||S ~~ 44 4 ¢ AQ864 2HN3 140 9.0 1
E 3~3~1 &9765 5DXN-2 300 50 1||E ~~~~~ & T986
W 3 ~3~1 3NXS-3 500 90 1 |W ~~~~~
# 19 » KT8 2HW2 110 Mean: 2DXS2 180 6.0 1 [|# 20 a6 4SW4 620 Mean: A 00 2
v 84 1NE3 150 -80 2DS2 90 50 1 v J9862 3NE5 660 -620 4SW4 620 0.0 17
¢ J532 Dif: -40 NS:-2 1NN1 90 50 1 ¢ 9863 Dif: -40 NS:-1 4SE4 620 0.0 1
& AK63 IMP: -1 EW:1  3DN-1 50 1.0 1 & KQ3 IMP: -1 EW:0 4SW5 650 1.0 1
4 Q73 » AJ96 A 00 2 ||a KQJT952 a A84 3NE5 660 -1.0 1
v KQ753 v T96 3DN-2 100 1.0 2 [|e Ad _I_ v Q73
* 97 ¢ AKT 2HW2 110 10 6 ||e 5 * KQT2
& T92 & J54 2CN-2 100 1.0 1 & T65 & A97
¢V BN 4542 2HW3 140 20 4 FOVABN o 73
N ~2~~~ 9AJ2 1NE3 150 2.0 1 N 122~~~ »KT5
S ~1~~~ Q864 3HW4 470 <30 1 ||S 122 ~~ o AJ74
E ~~332 #Q87 1HW4 470 30 1 ||E ~~~ 4 4 & J842
W ~~332 ~~~44




INE#FEE 2RBERF R

® ==> RT

#1: 9 BEA(101.6) #2: 17 2fE(86.04) #3 19 55}'4%(83 59)

1 1 NS: $E528 BRERGHO) 18 15 NS: EEE £ERA(BAC) -20 18.97 : 1.03 Total VP: 67.75 Rank:
EW: B8 BEHE S (EAC) 20 EW: 5#E MEE(BO) -1 IMP:| 39 1 15
I .
# 11 52 6DS7 940 Mean: 7DS7 1440 140 3 |[|# 12 s K5 3NE6 -490 Mean: 5NE-2 100 110 1
v A96 7DS-2 -100 540  6NS6 990 100 2 v J85 6CW6 -920 -430 3NW3 400 1.0 1
* KT Dif: 1040 NS:9 6DS7 940 9.0 3 + Q7532 Dif: 430 NS:-2 3NE3 400 1.0 1
» KJ832 IMP: 14 EW:12 6DS6 920 9.0 2 » 183 IMP: 10 EW:10 A 00 2
s 94 # JT863 A 00 2 ||a AT s 93 4HW4 420 0.0 1
v KJT5 v 743 3NS5 460 -20 1 ||w 9642 I v AK3 3NW4 430 0.0 3
¢ 93 * 862 6NS-1 50 110 4 |[|e A84 * KJ96 3NE4 430 0.0 4
& QT965 a 74 6NN-1 50 110 2 [ |a QJ2 » AK94 4ANW5 460 1.0 1
d ¢ VAN 4 AKQ7 7NN-2 100 -12.0 1 % ¢V AN 4 QJB742 3NE5 460 1.0 5
N ~6~~6 »Q82 7DS-2 4100 120 2 [N ~~~~~ v QT7 4ANW6 490 20 1
S ~7~~6 ¢AQ754 S ~~~~~ T 3NE6 490 20 1
E ~~~~~ ®A E 554 ~5 #1765 6CW6 920 -100 1
W~~~ ~ ~ 554~5
# 13 » 987 4SW4 -620 Mean: 5SW-2 200 110 1 ||# 14 » J92 4HN-1 -50 Mean: 4HN4 420 8.0 1
v QJ876 4SWS5 -650 -360  4SE-2 200 110 1 v AQJI75 5CS-1-50 70 3NS4 430 8.0 1
+ Q3 Dif: 30 NS:-6 4SW-1 100 100 3 ¢ 97 Dif: 0 NS:-3 4Cs4 130 20 2
& QT8 IMP: 1 EW:7 4SE-1 100 100 1 & Q3 IMP: 0 EW:3 3HN3 140 20 4
a JT65 N a AQ42 3NW-1 100 100 1 |[|a T73 ~ K864 3CS5 150 2.0 1
v A42 v KT5 A 00 2 T4 v K862 3CS4 130 20 1
¢ J8 -l— * K962 4SW4 620 -6.0 10| |e AKT843 ¢ Q5 2HN3 140 20 1
& AKJ6 a 42 3NW3 600 -6.0 1 8 » T64 A 00 2
® VAN ,K3 4SW5 650 7.0 2 d o VAN o, AQS 5CS-1 50 3.0 1
N ~~~~~ v 93 N 4~3~1 3 4HN-1 50 3.0 5
S ~~~~~  AT754 S 4~3~1 ¢J62 3NS-2 100 -50 3
E ~~~43 89753 E ~~~~~ & AKJ752
W ~~~43 W o~~~
# 15 a A 7CW-150 Mean: 7CW-1 50 12.0 2 ||# 16 s Q6 2DN-3 -150 Mean: 3CE-3 300 100 1
v 7642 4SW6 -480 -640 5CW6 420 6.0 2 v4 2SW2 -110 -180  3SW-2 200 9.0 1
¢ 98764 Dif: 530 NS:12 4SWe6 480 40 4 ¢ QJ9653 Dif: -40 NS:1 2SW-1 100 7.0 1
» 183 IMP: 11 EW:-4 3NE6 490 40 3 » K532 IMP: -1 EW:-2 2SW2 410 20 1
# KJ654 4 QT8 A 00 2 ||a 98742 & A5 2SN-2 100 2.0 1
v v AQT 6CW6 920 -70 3 || T73 — v AQ8 2SE2 410 20 1
*2 ¢ AQJTS 6SW6 980 -80 1 ||e AT2 * K874 2HS-2 4100 2.0 1
& AKJ7642 » Q9 6NE6 990 -80 5 ||aQJ » A764 2DS-2 100 2.0 1
do ¢ VAN 49732 B¢V AN 4 KIT3 3DS-3 4150 1.0 1
N ~~~~~ v KJ9853 N ~~~~~ v KJ9652 3DN-3 150 1.0 1
S ~~~~~ * K3 S ~~~~~ S 2SN-3 4150 1.0 1
E 64~56 &5 E ~3~32 &T98 2NE3 4150 1.0 1
W 64 ~55 ~3~22 2DN-3 4150 1.0 2
A 00 2
2SE4 470 0.0 1
3NXS-2 300 -3.0 1
3NE3 600 9.0 4
# 17 » K765 3HW4 -170 Mean: 4HXW-2 300 9.0 1 ||# 18 & AKQ753 4HS4 620 Mean: 4SN6 680 4.0 2
v Q 3HW4 -170 -100  3DN3 110 50 2 v AQ92 4HS4 620 520 4SN5 650 4.0 3
¢ AJT965 Dif: 0 NS:-2 4HW-1 50 40 1 *3 Dif: 0 NS:3 4SN4 620 3.0 2
& KQ IMP: 0 EW:2 4DN-1 -50 20 3 & J7 IMP: 0 EW:-3 4HS4 620 3.0 3
» AJ82 aT9 2NS-1 50 20 1 ||a 962 ~ J84 4HN4 620 3.0 1
v AK876 v JT95 A 00 2 ||eJT74 I v 53 3NS4 630 3.0 4
¢ 42 ¢ 87 5DXN-1 100 00 1 ||e JT95 * K72 A 00 2
& Ad a JT832 3NS-3 150 20 1 ||a Q5 a AK432 3SN6 230 7.0 1
B e VAN 4Q43 3HW4 470 -20 4 FOVAN o T 3SN5 200 -80 1
N ~3~1~ 9432 3HWS5 200 -30 3 |IN ~~ 444 ¢ K86 2HN4 170 8.0 2
S ~3~1~ +KQ3 2HW5 200 -30 1||S ~~ 44 4 ¢ AQ864 2HN3 140 9.0 1
E 3~3~1 &9765 5DXN-2 300 50 1||E ~~~~~ & T986
W 3 ~3~1 3NXS-3 500 90 1 |W ~~~~~
# 19 4 KT8 2DXS2 180 Mean: 2DXS2 180 60 1 |([|# 20 46 4SW4 -620 Mean: A 00 2
v 84 1NN190 -80 2DS2 90 50 1 v J9862 4SW4 -620 -620 4SW4 620 0.0 17
¢ J532 Dif: 90 NS:6  1NN1 90 50 1 ¢ 9863 Dif: 0 NS:0 4SE4 620 0.0 1
& AK63 IMP: 3 EW:-5 3DN-1 50 1.0 1 & KQ3 IMP: 0 EW:0 4SW5 650 1.0 1
4 Q73 » AJ96 A 00 2 ||a KQJT952 a A84 3NE5 660 -1.0 1
v KQ753 v T96 3DN-2 100 1.0 2 [|e Ad _I_ v Q73
* 97 ¢ AKT 2HW2 110 10 6 ||e 5 * KQT2
& T92 & J54 2CN-2 100 1.0 1 & T65 & A97
¢V BN 4542 2HW3 140 20 4 FOVABN o 73
N ~2~~~ 9AJ2 1NE3 150 2.0 1 N 122~~~ »KT5
S ~1~~~ Q864 3HW4 470 <30 1 ||S 122 ~~ o AJ74
E ~~332 #Q87 1HW4 470 30 1 ||E ~~~ 4 4 & J842
W ~~332 ~~~44




INE#FEE 2RBERF R

® ==> RT

#1: 9 BEA(101.6) #2: 17 2fE(86.04) #3 19 55}'4%(83 59)

1 2 NS: ¥iF=f% TTRINGI0) -13 18 NS: #t#88 ERHEE(BAC) 26 1.16 18.84| Total VP: 60.86 Rank:
EW: &5 B SFEEIC) -26 EW: ZhiEi8 FE1E(BAO) 13 IMP:| 13 50 17
I .
# 11 s 52 6NS-1-50 Mean: 7DS7 1440 140 3 ||# 12 » K5 4NW6 -490 Mean: 5NE-2 100 11.0 1
v A96 6DS6 920 540  6NS6 990 100 2 v J85 3NE3 -400 -430 3NW3 400 1.0 1
* KT Dif: -970 NS:-11 6DS7 940 9.0 3 + Q7532 Dif: -90 NsS:-2 3NE3 400 1.0 1
» KJ832 IMP: -14 EW:-9 6DS6 920 9.0 2 » 183 IMP: -3 EW:-1 A 00 2
s 94 # JT863 A 00 2 ||a AT s 93 4HW4 420 0.0 1
v KJT5 v 743 3NS5 460 -20 1 ||w 9642 I v AK3 3NW4 430 0.0 3
¢ 93 * 862 6NS-1 50 110 4 |[|e A84 * KJ96 3NE4 430 0.0 4
& QT965 a 74 6NN-1 50 110 2 [ |a QJ2 » AK94 4ANW5 460 1.0 1
d ¢ VAN 4 AKQ7 7NN-2 100 -12.0 1 % ¢V AN 4 QJB742 3NE5 460 1.0 5
N ~6~~6 »Q82 7DS-2 4100 120 2 [N ~~~~~ v QT7 4ANW6 490 20 1
S ~7~~6 ¢AQ754 S ~~~~~ T 3NE6 490 20 1
E ~~~~~ ®A E 554 ~5 #1765 6CW6 920 -100 1
W o~~~ ~ ~ 554~5
# 13 » 987 4SE-2 200 Mean: 5SW-2 200 110 1 ||# 14 » J92 3CS4 130 Mean: 4HN4 420 8.0 1
v QJ876 3NW3 -600 -360 4SE-2 200 110 1 v AQJI75 4HN4 420 70 3NS4 430 8.0 1
+ Q3 Dif: 800 NS:11 4SwW-1 100 100 3 ¢ 97 Dif: -290 NS:2 4Cs4 130 20 2
& QT8 IMP: 13 EW:6 4SE-1 100 100 1 & Q3 IMP: -7 EW:-8 3HN3 140 20 4
a JT65 N a AQ42 3NW-1 100 100 1 |[|a T73 ~ K864 3CS5 150 2.0 1
v A42 v KT5 A 00 2 T4 v K862 3CS4 130 20 1
¢ J8 -l— * K962 4SW4 620 -6.0 10| |e AKT843 ¢ Q5 2HN3 140 20 1
& AKJ6 a 42 3NW3 600 -6.0 1 8 » T64 A 00 2
® VAN ,K3 4SW5 650 7.0 2 d o VAN o, AQS 5CS-1 50 3.0 1
N ~~~~~ v 93 N 4~3~1 3 4HN-1 50 3.0 5
S ~~~~~ o AT754 S 4~3~1 ¢J62 3NS-2 100 -50 3
E ~~~43 89753 E ~~~~~ & AKJ752
wv ~~~43 W ~~~~~
# 15 a A 6CW6 -920 Mean: 7CW-1 50 12.0 2 ||# 16 s Q6 3DN-3 -150 Mean: 3CE-3 300 100 1
v 7642 4SW6 -480 -640 5CW6 420 6.0 2 v4 2SN-2 -100 -180  3SW-2 200 9.0 1
¢ 98764 Dif: -440 NS:-7 4SW6 480 40 4 ¢ QJ9653 Dif: -50 NS:1 2SW-1 100 7.0 1
» 183 IMP: -10 EW:-4 3NE6 490 40 3 » K532 IMP: -2 EW:-2 2SW2 410 20 1
# KJ654 4 QT8 A 00 2 ||a 98742 & A5 2SN-2 100 2.0 1
v v AQT 6CW6 920 -70 3 || T73 — v AQ8 2SE2 410 20 1
*2 ¢ AQJTS 6SW6 980 -80 1 ||e AT2 * K874 2HS-2 4100 2.0 1
& AKJ7642 » Q9 6NE6 990 -80 5 ||aQJ » A764 2DS-2 100 2.0 1
do ¢ VAN 49732 B¢V AN 4 KIT3 3DS-3 4150 1.0 1
N ~~~~~ v KJ9853 N ~~~~~ v KJ9652 3DN-3 150 1.0 1
S ~~~~~ * K3 S ~~~~~ S 2SN-3 4150 1.0 1
E 64~56 &5 E ~3~32 &T98 2NE3 4150 1.0 1
W 64 ~55 ~3~22 2DN-3 4150 1.0 2
A 00 2
2SE4 470 0.0 1
3NXS-2 300 -3.0 1
3NE3 600 9.0 4
# 17 » K765 3NXS-3 -500 Mean: 4HXW-2 300 9.0 1 ||# 18 & AKQ753 3NS4 630 Mean: 4SN6 680 4.0 2
v Q 3DN3 110 -100  3DN3 110 50 2 v AQ92 4SN6 680 520  4SN5 650 4.0 3
¢ AJT965 Dif: -610 NS:-9 4HW-1 50 40 1 *3 Dif: -50 NS:3 4SN4 620 3.0 2
& KQ IMP: -12 EW:-5 4DN-1 -50 20 3 & J7 IMP: -2 EW:-4 4HS4 620 3.0 3
» AJ82 aT9 2NS-1 50 20 1 ||a 962 ~ J84 4HN4 620 3.0 1
v AK876 v JT95 A 00 2 ||eJT74 I v 53 3NS4 630 3.0 4
¢ 42 ¢ 87 5DXN-1 100 00 1 ||e JT95 * K72 A 00 2
& Ad a JT832 3NS-3 150 20 1 ||a Q5 a AK432 3SN6 230 7.0 1
B e VAN 4Q43 3HW4 470 -20 4 FOVAN o T 3SN5 200 -80 1
N ~3~1~ 9432 3HWS5 200 -30 3 |IN ~~ 444 ¢ K86 2HN4 170 8.0 2
S ~3~1~ +KQ3 2HW5 200 -30 1||S ~~ 44 4 ¢ AQ864 2HN3 140 9.0 1
E 3~3~1 &9765 5DXN-2 300 50 1||E ~~~~~ & T986
W 3 ~3~1 3NXS-3 500 90 1 |W ~~~~~
# 19 » KT8 2HW2 -110 Mean: 2DXS2 180 6.0 1 [|# 20 a6 4SW4 -620 Mean: A 00 2
v 84 2HW2 -110 -80  2DS2 90 50 1 v J9862 4SW4 -620 -620 4SW4 620 0.0 17
¢ J532 Dif: 0 NS:-1  1NN1 90 50 1 ¢ 9863 Dif: 0 NS:0 4SE4 620 0.0 1
& AK63 IMP: 0 EW:1 3DN-1 50 1.0 1 & KQ3 IMP: 0 EW:0 4SW5 650 1.0 1
4 Q73 » AJ96 A 00 2 ||a KQJT952 a A84 3NE5 660 -1.0 1
v KQ753 v T96 3DN-2 100 1.0 2 [|e Ad _I_ v Q73
* 97 ¢ AKT 2HW2 110 10 6 ||e 5 * KQT2
& T92 & J54 2CN-2 100 1.0 1 & T65 & A97
¢V BN 4542 2HW3 140 20 4 FOVABN o 73
N ~2~~~ 9AJ2 1NE3 150 2.0 1 N 122~~~ »KT5
S ~1~~~ Q864 3HW4 470 <30 1 ||S 122 ~~ o AJ74
E ~~332 #Q87 1HW4 470 30 1 ||E ~~~ 4 4 & J842
W ~~332 ~~~44




INE#FEE 2RBERF R

® ==> RT

#1: 9 BEA(101.6) #2: 17 2fE(86.04) #3 19 55}'4%(83 59)

1 3 NS: S R RERC) -18 2 NS: g Z=RZ(FH0) -31 13.43 : 6.57 Total VP: 82.68 Rank:
EW: &558 BiFEEI0) 30 EW: EEH JTIEBAC) 1 IMP:| 20 10 4
I .
# 11 s 52 6NS-150 Mean: 7DS7 1440 140 3 ||# 12 » K5 4NW5 460 Mean: 5NE-2 100 11.0 1
v A96 7DS-2100 540  6NS6 990 100 2 v J85 3NE5 460 -430 3NW3 400 1.0 1
* KT Dif: -50 NS:-12 6DS7 940 9.0 3 + Q7532 Dif: 0 NS:-1 3NE3 400 1.0 1
» KJ832 IMP: -2 EW:11 6DS6 920 9.0 2 » 183 IMP: 0 EW:1 A 00 2
s 94 # JT863 A 00 2 ||a AT s 93 4HW4 420 0.0 1
v KJT5 v 743 3NS5 460 -20 1 ||w 9642 I v AK3 3NW4 430 0.0 3
¢ 93 * 862 6NS-1 50 110 4 |[|e A84 * KJ96 3NE4 430 0.0 4
& QT965 a 74 6NN-1 50 110 2 [ |a QJ2 » AK94 4ANW5 460 1.0 1
d ¢ VAN 4 AKQ7 7NN-2 100 -12.0 1 % ¢V AN 4 QJB742 3NE5 460 1.0 5
N ~6~~6 »Q82 7DS-2 4100 120 2 [N ~~~~~ v QT7 4ANW6 490 20 1
S ~7~~6 ¢AQ754 S ~~~~~ T 3NE6 490 20 1
E ~~~~~ ®A E 554 ~5 #1765 6CW6 920 -100 1
W o~~~ ~ ~ 554~5
# 13 » 987 4SW4 620 Mean: 5SW-2 200 110 1 ||# 14 » J92 4HN-1 50 Mean: 4HN4 420 8.0 1
v QJ876 4SW4 620 -360 4SE-2 200 110 1 v AQJI75 4CS4-130 70  3NS4 430 8.0 1
+ Q3 Dif: 0 NS:-6 4SW-1 100 100 3 ¢ 97 Dif: 180 NS:2 4CS4 130 20 2
& QT8 IMP: 0 EW:6 4SE-1 100 100 1 & Q3 IMP: 5 EW:3 3HN3 140 20 4
a JT65 N a AQ42 3NW-1 100 100 1 |[|a T73 ~ K864 3CS5 150 2.0 1
v A42 v KT5 A 00 2 T4 v K862 3CS4 130 20 1
¢ J8 -l— * K962 4SW4 620 -6.0 10| |e AKT843 ¢ Q5 2HN3 140 20 1
& AKJ6 a 42 3NW3 600 -6.0 1 8 » T64 A 00 2
® VAN ,K3 4SW5 650 7.0 2 d o VAN o, AQS 5CS-1 50 3.0 1
N ~~~~~ v 93 N 4~3~1 3 4HN-1 50 3.0 5
S ~~~~~  AT754 S 4~3~1 ¢J62 3NS-2 100 -50 3
E ~~~43 89753 E ~~~~~ & AKJ752
wv ~~~43 W ~~~~~
# 15 a A 6NE6 990 Mean: 7CW-1 50 12.0 2 ||# 16 s Q6 3SW-2 -200 Mean: 3CE-3 300 100 1
v 7642 6NE6 990 -640 5CW6 420 6.0 2 v4 2DN-3 150 -180  3SW-2 200 9.0 1
¢ 98764 Dif: 0 NS:-8 4SWe6 480 40 4 ¢ QJ9653 Dif: -350 NS:1  2SW-1 100 7.0 1
» 183 IMP: 0 EW:8 3NE6 490 40 3 » K532 IMP: -8 EW:-9 2SW2 410 20 1
# KJ654 4 QT8 A 00 2 ||a 98742 & A5 2SN-2 100 2.0 1
v v AQT 6CW6 920 -70 3 || T73 — v AQ8 2SE2 410 20 1
*2 ¢ AQJTS 6SW6 980 -80 1 ||e AT2 * K874 2HS-2 4100 2.0 1
& AKJ7642 » Q9 6NE6 990 -80 5 ||aQJ » A764 2DS-2 100 2.0 1
do ¢ VAN 49732 B¢V AN 4 KIT3 3DS-3 4150 1.0 1
N ~~~~~ v KJ9853 N ~~~~~ v KJ9652 3DN-3 150 1.0 1
S ~~~~~ * K3 S ~~~~~ . 2SN-3 4150 1.0 1
E 64~56 &5 E ~3~32 &T98 2NE3 4150 1.0 1
W 64 ~55 ~3~22 2DN-3 4150 1.0 2
A 00 2
2SE4 470 0.0 1
3NXS-2 300 -3.0 1
3NE3 600 9.0 4
# 17 » K765 3HW4 170 Mean: 4HXW-2 300 9.0 1 ||# 18 & AKQ753 3SN6 -230 Mean: 4SN6 680 4.0 2
v Q 3NS-3150 -100  3DN3 110 50 2 v AQ92 3NS4 -630 520 4SN5 650 4.0 3
¢ AJT965 Dif: 20 NS:-2 4HW-1 50 40 1 *3 Dif: 400 NS:3 4SN4 620 3.0 2
& KQ IMP: 1 EW:2 4DN-1 -50 20 3 & J7 IMP: 9 EW:7 4HS4 620 3.0 3
» AJ82 aT9 2NS-1 50 20 1 ||a 962 ~ J84 4HN4 620 3.0 1
v AK876 v JT95 A 00 2 ||eJT74 I v 53 3NS4 630 3.0 4
¢ 42 ¢ 87 5DXN-1 100 00 1 ||e JT95 * K72 A 00 2
& Ad a JT832 3NS-3 150 20 1 ||a Q5 a AK432 3SN6 230 7.0 1
B e VAN 4Q43 3HW4 470 -20 4 FOVAN o T 3SN5 200 -80 1
N ~3~1~ 9432 3HWS5 200 -30 3 |IN ~~ 444 ¢ K86 2HN4 170 8.0 2
S ~3~1~ +KQ3 2HW5 200 -30 1||S ~~ 44 4 ¢ AQ864 2HN3 140 9.0 1
E 3~3~1 &9765 5DXN-2 300 50 1||E ~~~~~ & T986
W 3 ~3~1 3NXS-3 500 90 1 |W ~~~~~
# 19 » KT8 2CN-2 100 Mean: 2DXS2 180 6.0 1 [|# 20 a6 4SW4 620 Mean: A 00 2
v 84 2DS2-90 -80  2DS2 90 50 1 v J9862 4SW4 620 -620 4SW4 620 0.0 17
¢ J532 Dif: 190 NS:5 1NN1 90 50 1 ¢ 9863 Dif: 0 NS:0 4SE4 620 0.0 1
& AK63 IMP: 5 EW:1 3DN-1 50 1.0 1 & KQ3 IMP: 0 EW:0 4SW5 650 1.0 1
4 Q73 » AJ96 A 00 2 ||a KQJT952 a A84 3NE5 660 -1.0 1
v KQ753 v T96 3DN-2 100 1.0 2 [|e Ad _I_ v Q73
* 97 ¢ AKT 2HW2 110 10 6 ||e 5 * KQT2
& T92 & J54 2CN-2 100 1.0 1 & T65 & A97
¢V BN 4542 2HW3 140 20 4 FOVABN o 73
N ~2~~~ 9AJ2 1NE3 150 2.0 1 N 122~~~ »KT5
S ~1~~~ Q864 3HW4 470 <30 1 ||S 122 ~~ o AJ74
E ~~332 #Q87 1HW4 470 30 1 ||E ~~~ 4 4 & J842
W ~~332 ~~~44




INE#FEE 2RBERF R

® ==> RT

#1: 9 BEA(101.6) #2: 17 2fE(86.04) #3 19 55}'4%(83 59)

1 4 NS: BRiEE FEFEGHO) -7 21 NS: ¥i% HE3E(FC) -6 8.50 11.50 | Total VP: 68.02 Rank:
EW: iR £552=EAC) 6 EW: $E{_# MEFR(BO) 7 IMP:| 16 20 14
I .
# 11 s 52 6NS6 990 Mean: 7DS7 1440 140 3 ||# 12 » K5 3NW4 -430 Mean: 5NE-2 100 11.0 1
v A96 6NS-1-50 540 6NS6 990 100 2 v J85 3NE4 -430 -430 3NW3 400 1.0 1
* KT Dif: 1040 NS:10 6DS7 940 9.0 3 + Q7532 Dif: 0 NS:0 3NE3 400 1.0 1
» KJ832 IMP: 14 EW:11 6DS6 920 9.0 2 » 183 IMP: 0 EW:0 A 00 2
s 94 » JT863 A 00 2 ||a AT s 93 4HW4 420 0.0 1
v KJT5 v 743 3NS5 460 -20 1 ||w 9642 I v AK3 3NW4 430 0.0 3
¢ 93 * 862 6NS-1 50 110 4 |[|e A84 * KJ96 3NE4 430 0.0 4
& QT965 a 74 6NN-1 50 110 2 [ |a QJ2 » AK94 4ANW5 460 1.0 1
d ¢ VAN 4 AKQ7 7NN-2 100 -12.0 1 % ¢V AN 4 QJB742 3NE5 460 1.0 5
N ~6~~6 »Q82 7DS-2 4100 120 2 [N ~~~~~ v QT7 4ANW6 490 20 1
S ~7~~6 ¢AQ754 S ~~~~~ T 3NE6 490 20 1
E ~~~~~ ®A E 554 ~5 #1765 6CW6 920 -100 1
W~~~ ~~ 554~5
# 13 » 987 4SW4 -620 Mean: 5SW-2 200 110 1 ||# 14 » J92 3NS-2-100 Mean: 4HN4 420 8.0 1
v QJ876 4SW-1100 -360 4SE-2 200 110 1 v AQJI75 3NS-2-100 70 3NS4 430 8.0 1
+ Q3 Dif: -720 NS:-6 4SW-1 100 100 3 ¢ 97 Dif: 0 NS:-5 4Cs4 130 20 2
& QT8 IMP: -12 EW:-10 4SE-1 100 100 1 & Q3 IMP: 0 EW:5 3HN3 140 20 4
a JT65 N a AQ42 3NW-1 100 100 1 ||a T73 ~ K864 3CS5 150 2.0 1
v A42 v KT5 A 00 2 T4 v K862 3CS4 130 20 1
¢ J8 -l— * K962 4SW4 620 -6.0 10| |e AKT843 ¢ Q5 2HN3 140 20 1
& AKJ6 a 42 3NW3 600 -6.0 1 8 » T64 A 00 2
® VAN ,K3 4SW5 650 7.0 2 ¢ VBN ,AQS 5CS-1 50 3.0 1
N ~~~~~ v 93 N 4~3~1 3 4HN-1 50 3.0 5
S ~~~~~  AT754 S 4~3~1 ¢J62 3NS-2 100 -50 3
E ~~~43 89753 E ~~~~~ & AKJ752
wv ~~~43 W ~~~~~
# 15 a A 5CW6 -420 Mean: 7CW-1 50 12.0 2 ||# 16 s Q6 3NE3 -600 Mean: 3CE-3 300 100 1
v 7642 3NE6 -490 -640 5CW6 420 6.0 2 v4 3NE3 -600 -180  3SW-2 200 9.0 1
¢ 98764 Dif: 70 NS:6 4SW6 480 40 4 + QJ9653 Dif: 0 NS:-9 2SW-1 100 7.0 1
» 183 IMP: 2 EW:-4 3NE6 490 40 3 » K532 IMP: 0 EW:9 2SW2 410 20 1
# KJ654 4 QT8 A 00 2 ||a 98742 & A5 2SN-2 100 2.0 1
v v AQT 6CW6 920 -70 3 || T73 — v AQ8 2SE2 410 20 1
*2 ¢ AQJTS 6SW6 980 -80 1 ||e AT2 * K874 2HS-2 4100 2.0 1
& AKJ7642 » Q9 6NE6 990 -80 5 ||aQJ » A764 2DS-2 100 2.0 1
do ¢ VAN 49732 B¢V AN 4 KIT3 3DS-3 4150 1.0 1
N ~~~~~ v KJ9853 N ~~~~~ v KJ9652 3DN-3 150 1.0 1
S ~~~~~ * K3 S ~~~~~ S 2SN-3 4150 1.0 1
E 64~56 &5 E ~3~32 &T98 2NE3 4150 1.0 1
W 64 ~55 ~3~22 2DN-3 4150 1.0 2
A 00 2
2SE4 470 0.0 1
3NXS-2 300 -3.0 1
3NE3 600 9.0 4
# 17 » K765 3HW5 -200 Mean: 4HXW-2 300 9.0 1 ||# 18 & AKQ753 4SN4 620 Mean: 4SN6 680 4.0 2
v Q 4DN-1-50 -100  3DN3 110 50 2 v AQ92 4SN6 680 520  4SN5 650 4.0 3
¢ AJT965 Dif: -150 NS:-3 4HW-1 50 40 1 *3 Dif: -60 NS:3 4SN4 620 3.0 2
& KQ IMP: -4 EW:-2 4DN-1 -50 20 3 & J7 IMP: -2 EW:-4 4HS4 620 3.0 3
» AJ82 aT9 2NS-1 50 20 1 ||a 962 ~ J84 4HN4 620 3.0 1
v AK876 v JT95 A 00 2 ||eJT74 I v 53 3NS4 630 3.0 4
¢ 42 ¢ 87 5DXN-1 100 00 1 ||e JT95 * K72 A 00 2
& Ad a JT832 3NS-3 150 20 1 ||a Q5 a AK432 3SN6 230 7.0 1
*eVAN ,Q43 3HW4 170 20 4 FOVAN o T 3SN5 200 -80 1
N ~3~1~ 9432 3HWS5 200 -30 3 |IN ~~ 444 ¢ K86 2HN4 170 8.0 2
S ~3~1~ +KQ3 2HW5 200 -30 1||S ~~ 44 4 ¢ AQ864 2HN3 140 9.0 1
E 3~3~1 &9765 5DXN-2 300 50 1||E ~~~~~ & T986
W 3 ~3~1 3NXS-3 500 90 1 |W ~~~~~
# 19 » KT8 2HW3 -140 Mean: 2DXS2 180 6.0 1 [|# 20 a6 4SW5 -650 Mean: A 00 2
v 84 2HW2 -110 -80  2DS2 90 50 1 v J9862 4SW4 -620 -620 4SW4 620 0.0 17
¢ J532 Dif: -30 NS:-2 1NN1 90 50 1 « 9863 Dif: -30 NS:-1 4SE4 620 0.0 1
& AK63 IMP: -1 EW:1  3DN-1 50 1.0 1 » KQ3 IMP: -1 EW:0 4SW5 650 1.0 1
4 Q73 » AJ96 A 00 2 ||a KQJT952 a A84 3NE5 660 -1.0 1
v KQ753 v T96 3DN-2 100 1.0 2 [|e Ad _I_ v Q73
* 97 ¢ AKT 2HW2 110 10 6 ||e 5 * KQT2
& T92 & J54 2CN-2 100 1.0 1 & T65 » A97
¢V BN 4542 2HW3 140 20 4 FOVAN 73
N ~2~~~ wAJ2 1NE3 4150 20 1[N 122 ~~ v KT5
S ~1~~~ Q864 3HW4 470 <30 1 ||S 122 ~~ o AJ74
E ~~332 #Q87 1HW4 470 30 1 ||E ~~~ 4 4 & J842
W ~~332 ~~~44




INE#FEE 2RBERF R

® ==> RT

#1: 9 BEA(101.6) #2: 17 2fE(86.04) #3 19 55}'4%(83 59)

1 5 NS: EEZE SERAEIC) -20 1 1 NS: $E3555 BRER(F0) 18 1.03 18.97 | Total VP: 51.63 Rank:
EW: & B HEEREHO) -18 EW: EFE RHI5(BAC) 20 IMP:| 1 39 19
I .
# 11 52 6DS7 -940 Mean: 7DS7 1440 140 3 |[|# 12 s K5 3NE6 490 Mean: 5NE-2 100 110 1
v A96 7DS-2100 540  6NS6 990 100 2 v J85 6CW6 920 -430 3NW3 400 1.0 1
* KT Dif: -1040 NS:-12 6DS7 940 9.0 3 + Q7532 Dif: -430 NS:-10 3NE3 400 1.0 1
» KJ832 IMP: -14 EW:-9 6DS6 920 9.0 2 » 183 IMP: -10 EW:2 A 00 2
s 94 # JT863 A 00 2 ||a AT s 93 4HW4 420 0.0 1
v KJT5 v 743 3NS5 460 -20 1 ||w 9642 I v AK3 3NW4 430 0.0 3
¢ 93 * 862 6NS-1 50 110 4 |[|e A84 * KJ96 3NE4 430 0.0 4
& QT965 a 74 6NN-1 50 110 2 [ |a QJ2 » AK94 4ANW5 460 1.0 1
d ¢ VAN 4 AKQ7 7NN-2 100 -12.0 1 % ¢V AN 4 QJB742 3NE5 460 1.0 5
N ~6~~6 »Q82 7DS-2 4100 120 2 [N ~~~~~ v QT7 4ANW6 490 20 1
S ~7~~6 ¢AQ754 S ~~~~~ T 3NE6 490 20 1
E ~~~~~ ®A E 554 ~5 #1765 6CW6 920 -100 1
W~~~ ~ ~ 554~5
# 13 » 987 4SW4 620 Mean: 5SW-2 200 110 1 ||# 14 » J92 4HN-1 50 Mean: 4HN4 420 8.0 1
v QJ876 4SW5 650 -360  4SE-2 200 110 1 v AQJI75 5CS-150 70 3NS4 430 8.0 1
+ Q3 Dif: -30 NS:-7 4SW-1 100 100 3 ¢ 97 Dif: 0 NS:-3 4Cs4 130 20 2
& QT8 IMP: -1 EW:6 4SE-1 100 100 1 & Q3 IMP: 0 EW:3 3HN3 140 20 4
a JT65 N a AQ42 3NW-1 100 100 1 |[|a T73 ~ K864 3CS5 150 2.0 1
v A42 v KT5 A 00 2 T4 v K862 3CS4 130 20 1
¢ J8 -l— * K962 4SW4 620 -6.0 10| |e AKT843 ¢ Q5 2HN3 140 20 1
& AKJ6 a 42 3NW3 600 -6.0 1 8 » T64 A 00 2
® VAN ,K3 4SW5 650 7.0 2 d o VAN o, AQS 5CS-1 50 3.0 1
N ~~~~~ v 93 N 4~3~1 3 4HN-1 50 3.0 5
S ~~~~~  AT754 S 4~3~1 ¢J62 3NS-2 100 -50 3
E ~~~43 89753 E ~~~~~ & AKJ752
W ~~~43 W o~~~
# 15 a A 7CW-1-50 Mean: 7CW-1 50 12.0 2 ||# 16 s Q6 2DN-3 150 Mean: 3CE-3 300 100 1
v 7642 4SW6 480 -640 5CW6 420 6.0 2 v4 2SW2 110 -180  3SW-2 200 9.0 1
¢ 98764 Dif: -530 NS:4 4SW6 480 40 4 ¢ QJ9653 Dif: 40 NS:2 2SW-1 100 7.0 1
» 183 IMP: -11 EW:-12 3NE6 490 40 3 » K532 IMP: 1 EW:-1  2SW2 410 20 1
# KJ654 4 QT8 A 00 2 ||a 98742 & A5 2SN-2 100 2.0 1
v v AQT 6CW6 920 -70 3 || T73 — v AQ8 2SE2 410 20 1
*2 ¢ AQJTS 6SW6 980 -80 1 ||e AT2 * K874 2HS-2 4100 2.0 1
& AKJ7642 » Q9 6NE6 990 -80 5 ||aQJ » A764 2DS-2 100 2.0 1
do ¢ VAN 49732 B¢V AN 4 KIT3 3DS-3 4150 1.0 1
N ~~~~~ v KJ9853 N ~~~~~ v KJ9652 3DN-3 150 1.0 1
S ~~~~~ * K3 S ~~~~~ S 2SN-3 4150 1.0 1
E 64~56 &5 E ~3~32 &T98 2NE3 4150 1.0 1
W 64 ~55 ~3~22 2DN-3 4150 1.0 2
A 00 2
2SE4 470 0.0 1
3NXS-2 300 -3.0 1
3NE3 600 9.0 4
# 17 » K765 3HW4 170 Mean: 4HXW-2 300 9.0 1 ||# 18 & AKQ753 4HS4 -620 Mean: 4SN6 680 4.0 2
v Q 3HW4 170 -100  3DN3 110 50 2 v AQ92 4HS4 -620 520  4SN5 650 4.0 3
¢ AJT965 Dif: 0 NS:-2 4HW-1 50 40 1 *3 Dif: 0 NS:3 4SN4 620 3.0 2
& KQ IMP: 0 EW:2 4DN-1 -50 20 3 & J7 IMP: 0 EW:-3 4HS4 620 3.0 3
» AJ82 aT9 2NS-1 50 20 1 ||a 962 ~ J84 4HN4 620 3.0 1
v AK876 v JT95 A 00 2 ||eJT74 I v 53 3NS4 630 3.0 4
¢ 42 ¢ 87 5DXN-1 100 00 1 ||e JT95 * K72 A 00 2
& Ad a JT832 3NS-3 150 20 1 ||a Q5 a AK432 3SN6 230 7.0 1
B e VAN 4Q43 3HW4 470 -20 4 FOVAN o T 3SN5 200 -80 1
N ~3~1~ 9432 3HWS5 200 -30 3 |IN ~~ 444 ¢ K86 2HN4 170 8.0 2
S ~3~1~ +KQ3 2HW5 200 -30 1||S ~~ 44 4 ¢ AQ864 2HN3 140 9.0 1
E 3~3~1 &9765 5DXN-2 300 50 1||E ~~~~~ & T986
W 3 ~3~1 3NXS-3 500 90 1 |W ~~~~~
# 19 4 KT8 2DXS2 -180 Mean: 2DXS2 180 60 1 |([|# 20 46 4SW4 620 Mean: A 00 2
v 84 1NN1-90 -80 2DS2 90 50 1 v J9862 4SW4 620 -620 4SW4 620 0.0 17
¢ J532 Dif: -90 NS:5 1NN1 90 50 1 ¢ 9863 Dif: 0 NS:0 4SE4 620 0.0 1
& AK63 IMP: -3 EW:-6 3DN-1 50 1.0 1 » KQ3 IMP: 0 EW:0 4SW5 650 1.0 1
4 Q73 » AJ96 A 00 2 ||a KQJT952 a A84 3NE5 660 -1.0 1
v KQ753 v T96 3DN-2 100 1.0 2 [|e Ad _I_ v Q73
* 97 ¢ AKT 2HW2 110 10 6 ||e 5 * KQT2
& T92 & J54 2CN-2 100 1.0 1 & T65 » A97
¢V BN 4542 2HW3 140 20 4 FOVAN 73
N ~2~~~ 9AJ2 1NE3 150 2.0 1 N 122~~~ »KT5
S ~1~~~ Q864 3HW4 470 <30 1 ||S 122 ~~ o AJ74
E ~~332 #Q87 1HW4 470 30 1 ||E ~~~ 4 4 & J842
W ~~332 ~~~44




INE#FEE 2RBERF R

® ==> RT

#1: 9 BEA(101.6) #2: 17 2fE(86.04) #3 19 55}'4%(83 59)

1 6 NS: G35 HREEEAC) 12 7 NS: BRER ZB1#(BAO) 15 8.50 11.50 | Total VP: 73.76 Rank:
EW: BEEISZ SRBEREE0) -15 EW: EHE B1E(BAC) 1 IMP:| 6 10 10
I .
# 11 52 6DS6 -920 Mean: 7DS7 1440 140 3 |[|# 12 s K5 3NW3 400 Mean: 5NE-2 100 110 1
v A96 6NS6 -990 540  6NS6 990 100 2 v J85 3NW4 430 -430 3NW3 400 1.0 1
* KT Dif: 70 NS:10 6DS7 940 9.0 3 + Q7532 Dif: -30 NS:0 3NE3 400 1.0 1
» KJ832 IMP: 2 EW:-9 6DS6 920 9.0 2 » 183 IMP: -1 EW:-1 A 00 2
s 94 # JT863 A 00 2 ||a AT s 93 4HW4 420 0.0 1
v KJT5 v 743 3NS5 460 -20 1 ||w 9642 I v AK3 3NW4 430 0.0 3
¢ 93 * 862 6NS-1 50 110 4 |[|e A84 * KJ96 3NE4 430 0.0 4
& QT965 a 74 6NN-1 50 110 2 [ |a QJ2 » AK94 4ANW5 460 1.0 1
d ¢ VAN 4 AKQ7 7NN-2 100 -12.0 1 % ¢V AN 4 QJB742 3NE5 460 1.0 5
N ~6~~6 »Q82 7DS-2 4100 120 2 [N ~~~~~ v QT7 4ANW6 490 20 1
S ~7~~6 ¢AQ754 S ~~~~~ T 3NE6 490 20 1
E ~~~~~ ®A E 554 ~5 #1765 6CW6 920 -100 1
W o~~~ ~ ~ 554~5
# 13 » 987 4SW-1-100 Mean: 5SW-2 200 110 1 ||# 14 » J92 3HN3 -140 Mean: 4HN4 420 8.0 1
v QJ876 4SE-1-100 -360 4SE-2 200 110 1 v AQJI75 4HN-150 70  3NS4 430 8.0 1
+ Q3 Dif: 0 NS:10 4SW-1 100 100 3 ¢ 97 Dif: -190 NS:-3 4CS4 130 20 2
& QT8 IMP: 0 EW:-10 4SE-1 100 100 1 & Q3 IMP: -5 EW:-2 3HN3 140 20 4
a JT65 N a AQ42 3NW-1 100 100 1 |[|a T73 ~ K864 3CS5 150 2.0 1
v A42 v KT5 A 00 2 T4 v K862 3CS4 130 20 1
¢ J8 -l— * K962 4SW4 620 -6.0 10| |e AKT843 ¢ Q5 2HN3 140 20 1
& AKJ6 a 42 3NW3 600 -6.0 1 8 » T64 A 00 2
® VAN ,K3 4SW5 650 7.0 2 d o VAN o, AQS 5CS-1 50 3.0 1
N ~~~~~ v 93 N 4~3~1 3 4HN-1 50 3.0 5
S ~~~~~ o AT754 S 4~3~1 ¢J62 3NS-2 100 -50 3
E ~~~43 89753 E ~~~~~ & AKJ752
wv ~~~43 W ~~~~~
# 15 a A 6NE6 990 Mean: 7CW-1 50 12.0 2 ||# 16 s Q6 2HS-2100 Mean: 3CE-3 300 100 1
v 7642 6SW6 980 -640  5CW6 420 6.0 2 v4 2NE3 150 -180  3SW-2 200 9.0 1
¢ 98764 Dif: 10 NS:-8 4SW6 480 40 4 ¢ QJ9653 Dif: -50 NS:1 2SW-1 100 7.0 1
» 183 IMP: 0 EW:8 3NE6 490 40 3 » K532 IMP: -2 EW:-2 2SW2 410 20 1
# KJ654 4 QT8 A 00 2 ||a 98742 & A5 2SN-2 100 2.0 1
v v AQT 6CW6 920 -70 3 || T73 — v AQ8 2SE2 410 20 1
*2 ¢ AQJTS 6SW6 980 -80 1 ||e AT2 * K874 2HS-2 4100 2.0 1
& AKJ7642 » Q9 6NE6 990 -80 5 ||aQJ » A764 2DS-2 100 2.0 1
do ¢ VAN 49732 B¢V AN 4 KIT3 3DS-3 4150 1.0 1
N ~~~~~ v KJ9853 N ~~~~~ v KJ9652 3DN-3 150 1.0 1
S ~~~~~ * K3 S ~~~~~ S 2SN-3 4150 1.0 1
E 64~56 &5 E ~3~32 &T98 2NE3 4150 1.0 1
W 64 ~55 ~3~22 2DN-3 4150 1.0 2
A 00 2
2SE4 470 0.0 1
3NXS-2 300 -3.0 1
3NE3 600 9.0 4
# 17 » K765 2HW5 200 Mean: 4HXW-2 300 9.0 1 ||# 18 & AKQ753 3NS4 -630 Mean: 4SN6 680 4.0 2
v Q 4DN-150 -100  3DN3 110 50 2 v AQ92 3NS4 -630 520 4SN5 650 4.0 3
¢ AJT965 Dif: 150 NS:2 4HW-1 50 40 1 *3 Dif: 0 NS:3 4SN4 620 3.0 2
& KQ IMP: 4 EW:3 4DN-1 -50 20 3 & J7 IMP: 0 EW:-3 4HS4 620 3.0 3
» AJ82 aT9 2NS-1 50 20 1 ||a 962 ~ J84 4HN4 620 3.0 1
v AK876 v JT95 A 00 2 ||eJT74 I v 53 3NS4 630 3.0 4
¢ 42 ¢ 87 5DXN-1 100 00 1 ||e JT95 * K72 A 00 2
& Ad a JT832 3NS-3 150 20 1 ||a Q5 a AK432 3SN6 230 7.0 1
B e VAN 4Q43 3HW4 470 -20 4 FOVAN o T 3SN5 200 -80 1
N ~3~1~ 9432 3HWS5 200 -30 3 |IN ~~ 444 ¢ K86 2HN4 170 8.0 2
S ~3~1~ +KQ3 2HW5 200 -30 1||S ~~ 44 4 ¢ AQ864 2HN3 140 9.0 1
E 3~3~1 &9765 5DXN-2 300 50 1||E ~~~~~ & T986
W 3 ~3~1 3NXS-3 500 90 1 |W ~~~~~
# 19 » KT8 2HW2 110 Mean: 2DXS2 180 6.0 1 [|# 20 a6 4SW4 620 Mean: A 00 2
v 84 3HW4 170 -80 2DS2 90 50 1 v J9862 4SW4 620 -620 4SW4 620 0.0 17
¢ J532 Dif: -60 NS:-3 1NN1 90 50 1 ¢ 9863 Dif: 0 NS:0 4SE4 620 0.0 1
& AK63 IMP: -2 EW:1  3DN-1 50 1.0 1 & KQ3 IMP: 0 EW:0 4SW5 650 1.0 1
4 Q73 » AJ96 A 00 2 ||a KQJT952 a A84 3NE5 660 -1.0 1
v KQ753 v T96 3DN-2 100 1.0 2 [|e Ad _I_ v Q73
* 97 ¢ AKT 2HW2 110 10 6 ||e 5 * KQT2
& T92 & J54 2CN-2 100 1.0 1 & T65 & A97
¢V BN 4542 2HW3 140 20 4 FOVABN o 73
N ~2~~~ 9AJ2 1NE3 150 2.0 1 N 122~~~ »KT5
S ~1~~~ Q864 3HW4 470 <30 1 ||S 122 ~~ o AJ74
E ~~332 #Q87 1HW4 470 30 1 ||E ~~~ 4 4 & J842
W ~~332 ~~~44




INE#FEE 2RBERF R

® ==> RT

#1: 9 BEA(101.6) #2: 17 2fE(86.04) #3 19 55}'4%(83 59)

1 7 NS: B BUEIR(EHC) 8 9 NS: #B{E3E #FER(FO0) -14 16.18 : 3.82 Total VP: 86.04 Rank:
EW: BEith4 RREIEEEH0) 12 EW: ZZ8ETB ZI3¥K(BAC) -8 IMP:| 25 4 2
I .
# 11 52 7DS7 -1440 Mean: 7DS7 1440 140 3 |[|# 12 s K5 3NE5 460 Mean: 5NE-2 100 110 1
v A96 7DS7 -1440 540  6NS6 990 100 2 v J85 3NE4 430 -430 3NW3 400 1.0 1
* KT Dif: 0 NS:14 6DS7 940 9.0 3 + Q7532 Dif: 30 NS:0 3NE3 400 1.0 1
» KJ832 IMP: 0 EW:-14 6DS6 920 9.0 2 » 183 IMP:1 EW:1 A 00 2
s 94 # JT863 A 00 2 ||a AT s 93 4HW4 420 0.0 1
v KJT5 v 743 3NS5 460 -20 1 ||w 9642 I v AK3 3NW4 430 0.0 3
¢ 93 * 862 6NS-1 50 110 4 |[|e A84 * KJ96 3NE4 430 0.0 4
& QT965 a 74 6NN-1 50 110 2 [ |a QJ2 » AK94 4ANW5 460 1.0 1
d ¢ VAN 4 AKQ7 7NN-2 100 -12.0 1 % ¢V AN 4 QJB742 3NE5 460 1.0 5
N ~6~~6 »Q82 7DS-2 4100 120 2 [N ~~~~~ v QT7 4ANW6 490 20 1
S ~7~~6 ¢AQ754 S ~~~~~ T 3NE6 490 20 1
E ~~~~~ ®A E 554 ~5 #1765 6CW6 920 -100 1
W o~~~ ~ ~ 554~5
# 13 » 987 4SW4 620 Mean: 5SW-2 200 110 1 ||# 14 » J92 4CS4 -130 Mean: 4HN4 420 8.0 1
v QJ876 4SW4 620 -360 4SE-2 200 110 1 v AQJI75 3HN3-140 70  3NS4 430 8.0 1
+ Q3 Dif: 0 NS:-6 4SW-1 100 100 3 ¢ 97 Dif: 10 NS:2 4CS4 130 20 2
& QT8 IMP: 0 EW:6 4SE-1 100 100 1 & Q3 IMP: 0 EW:-2 3HN3 140 20 4
a JT65 N a AQ42 3NW-1 100 100 1 |[|a T73 ~ K864 3CS5 150 2.0 1
v A42 v KT5 A 00 2 T4 v K862 3CS4 130 20 1
¢ J8 -l— * K962 4SW4 620 -6.0 10| |e AKT843 ¢ Q5 2HN3 140 20 1
& AKJ6 a 42 3NW3 600 -6.0 1 8 » T64 A 00 2
® VAN ,K3 4SW5 650 7.0 2 d o VAN o, AQS 5CS-1 50 3.0 1
N ~~~~~ v 93 N 4~3~1 3 4HN-1 50 3.0 5
S ~~~~~ o AT754 S 4~3~1 ¢J62 3NS-2 100 -50 3
E ~~~43 89753 E ~~~~~ & AKJ752
wv ~~~43 W ~~~~~
# 15 a A 6CW6 920 Mean: 7CW-1 50 12.0 2 ||# 16 s Q6 3NE3 600 Mean: 3CE-3 300 100 1
v 7642 3NE6 490 -640 5CW6 420 6.0 2 v4 2SE4 170 -180  3SW-2 200 9.0 1
¢ 98764 Dif: 430 NS:4 4SWe6 480 40 4 ¢ QJ9653 Dif: 430 NS:0 2SW-1 100 7.0 1
» 183 IMP: 10 EW:7 3NE6 490 40 3 » K532 IMP: 10 EW:9 2SW2 410 20 1
& KJ654 4 QT8 A 00 2 ||a 98742 & A5 2SN-2 100 2.0 1
v v AQT 6CW6 920 -70 3 || T73 — v AQ8 2SE2 410 20 1
*2 ¢ AQJTS 6SW6 980 -80 1 ||e AT2 * K874 2HS-2 4100 2.0 1
& AKJ7642 » Q9 6NE6 990 -80 5 ||aQJ » A764 2DS-2 100 2.0 1
do ¢ VAN 49732 B¢V AN 4 KIT3 3DS-3 4150 1.0 1
N ~~~~~ v KJ9853 N ~~~~~ v KJ9652 3DN-3 150 1.0 1
S ~~~~~ * K3 S ~~~~~ . 2SN-3 4150 1.0 1
E 64~56 &5 E ~3~32 &T98 2NE3 4150 1.0 1
W 64 ~55 ~3~22 2DN-3 4150 1.0 2
A 00 2
2SE4 470 0.0 1
3NXS-2 300 -3.0 1
3NE3 600 9.0 4
# 17 » K765 2NS-150 Mean: 4HXW-2 300 9.0 1 ||# 18 & AKQ753 3SN5 -200 Mean: 4SN6 680 4.0 2
v Q 3DN3 -110 -100  3DN3 110 50 2 v AQ92 2HN4 -170 520  4SN5 650 4.0 3
¢ AJT965 Dif: 160 NS:5 4HW-1 50 40 1 *3 Dif: -30 NS:-8 4SN4 620 3.0 2
& KQ IMP: 4 EW:-2 4DN-1 -50 20 3 & J7 IMP: -1 EW:8 4HS4 620 3.0 3
» AJ82 aT9 2NS-1 50 20 1 ||a 962 ~ J84 4HN4 620 3.0 1
v AK876 v JT95 A 00 2 ||eJT74 I v 53 3NS4 630 3.0 4
¢ 42 ¢ 87 5DXN-1 100 00 1 ||e JT95 * K72 A 00 2
& Ad a JT832 3NS-3 150 20 1 ||a Q5 a AK432 3SN6 230 7.0 1
B e VAN 4Q43 3HW4 170 -20 4 FOVAN o T 3SN5 200 -80 1
N ~3~1~ 9432 3HWS5 200 -30 3 |IN ~~ 444 ¢ K86 2HN4 170 8.0 2
S ~3~1~ +KQ3 2HW5 200 -30 1||S ~~ 44 4 ¢ AQ864 2HN3 140 9.0 1
E 3~3~1 &9765 5DXN-2 300 50 1||E ~~~~~ & T986
W 3 ~3~1 3NXS-3 500 90 1 |W ~~~~~
# 19 » KT8 3DN-1 50 Mean: 2DXS2 180 6.0 1 [|# 20 a6 4SW4 620 Mean: A 00 2
v 84 1HW4 170 -80  2DS2 90 50 1 v J9862 4SW4 620 -620 4SW4 620 0.0 17
¢ J532 Dif: -120 NS:-3 1NN1 90 50 1 ¢ 9863 Dif: 0 NS:0 4SE4 620 0.0 1
& AK63 IMP: -3 EW:-1  3DN-1 50 1.0 1 & KQ3 IMP: 0 EW:0 4SW5 650 1.0 1
4 Q73 » AJ96 A 00 2 ||a KQJT952 a A84 3NE5 660 -1.0 1
v KQ753 v T96 3DN-2 100 1.0 2 [|e Ad _I_ v Q73
* 97 ¢ AKT 2HW2 110 10 6 ||e 5 * KQT2
& T92 & J54 2CN-2 100 1.0 1 & T65 » A97
¢V BN 4542 2HW3 140 20 4 FOVABN o 73
N ~2~~~ 9AJ2 1NE3 150 2.0 1 N 122~~~ »KT5
S ~1~~~ ¢Q864 3HW4 470 30 1 ||S 122 ~~ o AJ74
E ~~332 #Q87 1HW4 470 30 1 ||E ~~~ 4 4 & J842
W ~~332 ~~~44




INE#FEE 2RBERF R

® ==> RT

#1: 9 BEA(101.6) #2: 17 2fE(86.04) #3 19 55}'4%(83 59)

1 8 NS: #48 E BRHEEEAC) 26 12 NS: B2 TR (BAO) -13 18.84 : 1.16 Total VP: 70.84 Rank:
EW: S ZEEEI0) 13 EW: #ZH M#&R(BAC) -2 IMP:| 50 13 13
I .
# 11 s 52 6NS-150 Mean: 7DS7 1440 140 3 ||# 12 » K5 4NW6 490 Mean: 5NE-2 100 11.0 1
v A96 6DS6 -920 540  6NS6 990 100 2 v J85 3NE3 400 -430 3NW3 400 1.0 1
* KT Dif: 970 NS:9 6DS7 940 9.0 3 + Q7532 Dif: 90 NS:1 3NE3 400 1.0 1
» KJ832 IMP: 14 EW:11 6DS6 920 9.0 2 » 183 IMP:3 EW:2 A 00 2
s 94 # JT863 A 00 2 ||a AT s 93 4HW4 420 0.0 1
v KJT5 v 743 3NS5 460 -20 1 ||w 9642 I v AK3 3NW4 430 0.0 3
¢ 93 * 862 6NS-1 50 110 4 |[|e A84 * KJ96 3NE4 430 0.0 4
& QT965 a 74 6NN-1 50 110 2 [ |a QJ2 » AK94 4ANW5 460 1.0 1
d ¢ VAN 4 AKQ7 7NN-2 100 -12.0 1 % ¢V AN 4 QJB742 3NE5 460 1.0 5
N ~6~~6 »Q82 7DS-2 4100 120 2 [N ~~~~~ v QT7 4ANW6 490 20 1
S ~7~~6 ¢AQ754 S ~~~~~ T 3NE6 490 20 1
E ~~~~~ ®A E 554 ~5 #1765 6CW6 920 -100 1
W o~~~ ~ ~ 554~5
# 13 » 987 4SE-2 -200 Mean: 5SW-2 200 110 1 ||# 14 » J92 3CS4 -130 Mean: 4HN4 420 8.0 1
v QJ876 3NW3 600 -360 4SE-2 200 110 1 v AQJI75 4HN4 -420 70 3NS4 430 8.0 1
+ Q3 Dif: -800 NS:-6 4SW-1 100 100 3 ¢ 97 Dif: 290 NS:8 4CS4 130 20 2
& QT8 IMP: -13 EW:-11 4SE-1 100 100 1 & Q3 IMP: 7 EW:-2 3HN3 140 20 4
a JT65 N a AQ42 3NW-1 100 100 1 |[|a T73 ~ K864 3CS5 150 2.0 1
v A42 v KT5 A 00 2 T4 v K862 3CS4 130 20 1
¢ J8 -l— * K962 4SW4 620 -6.0 10| |e AKT843 ¢ Q5 2HN3 140 20 1
& AKJ6 a 42 3NW3 600 -6.0 1 8 » T64 A 00 2
® VAN ,K3 4SW5 650 7.0 2 d o VAN o, AQS 5CS-1 50 3.0 1
N ~~~~~ v 93 N 4~3~1 3 4HN-1 50 3.0 5
S ~~~~~ o AT754 S 4~3~1 ¢J62 3NS-2 100 -50 3
E ~~~43 89753 E ~~~~~ & AKJ752
wv ~~~43 W ~~~~~
# 15 a A 6CW6 920 Mean: 7CW-1 50 12.0 2 ||# 16 s Q6 3DN-3 150 Mean: 3CE-3 300 100 1
v 7642 4SW6 480 -640 5CW6 420 6.0 2 v4 2SN-2100 -180  3SW-2 200 9.0 1
¢ 98764 Dif: 440 NS:4 4SWe6 480 40 4 ¢ QJ9653 Dif: 50 NS:2 2SW-1 100 7.0 1
» 183 IMP: 10 EW:7 3NE6 490 40 3 » K532 IMP: 2 EW:-1  2SW2 410 20 1
# KJ654 4 QT8 A 00 2 ||a 98742 & A5 2SN-2 100 2.0 1
v v AQT 6CW6 920 -70 3 || T73 — v AQ8 2SE2 410 20 1
*2 ¢ AQJTS 6SW6 980 -80 1 ||e AT2 * K874 2HS-2 4100 2.0 1
& AKJ7642 » Q9 6NE6 990 -80 5 ||aQJ » A764 2DS-2 100 2.0 1
do ¢ VAN 49732 B¢V AN 4 KIT3 3DS-3 4150 1.0 1
N ~~~~~ v KJ9853 N ~~~~~ v KJ9652 3DN-3 150 1.0 1
S ~~~~~ * K3 S ~~~~~ S 2SN-3 4150 1.0 1
E 64~56 &5 E ~3~32 &T98 2NE3 4150 1.0 1
W 64 ~55 ~3~22 2DN-3 4150 1.0 2
A 00 2
2SE4 470 0.0 1
3NXS-2 300 -3.0 1
3NE3 600 9.0 4
# 17 » K765 3NXS-3 500 Mean: 4HXW-2 300 9.0 1 [|# 18 & AKQ753 3NS4 -630 Mean: 4SN6 680 4.0 2
v Q 3DN3 -110 -100  3DN3 110 50 2 v AQ92 4SN6 -680 520  4SN5 650 4.0 3
¢ AJT965 Dif: 610 NS:5 4HW-1 50 40 1 *3 Dif: 50 NS:4 4SN4 620 3.0 2
& KQ IMP: 12 EW:9 4DN-1 -50 20 3 & J7 IMP: 2 EW:-3 4HS4 620 3.0 3
» AJ82 aT9 2NS-1 50 20 1 ||a 962 ~ J84 4HN4 620 3.0 1
v AK876 v JT95 A 00 2 ||eJT74 I v 53 3NS4 630 3.0 4
¢ 42 ¢ 87 5DXN-1 100 00 1 ||e JT95 * K72 A 00 2
& Ad a JT832 3NS-3 150 20 1 ||a Q5 a AK432 3SN6 230 7.0 1
B e VAN 4Q43 3HW4 470 -20 4 FOVAN o T 3SN5 200 -80 1
N ~3~1~ 9432 3HWS5 200 -30 3 |IN ~~ 444 ¢ K86 2HN4 170 8.0 2
S ~3~1~ +KQ3 2HW5 200 -30 1||S ~~ 44 4 ¢ AQ864 2HN3 140 9.0 1
E 3~3~1 &9765 5DXN-2 300 50 1||E ~~~~~ & T986
W 3 ~3~1 3NXS-3 500 90 1 |W ~~~~~
# 19 » KT8 2HW2 110 Mean: 2DXS2 180 6.0 1 [|# 20 a6 4SW4 620 Mean: A 00 2
v 84 2HW2 110 -80 2DS2 90 50 1 v J9862 4SW4 620 -620 4SW4 620 0.0 17
¢ J532 Dif: 0 NS:-1  1NN1 90 50 1 ¢ 9863 Dif: 0 NS:0 4SE4 620 0.0 1
& AK63 IMP: 0 EW:1 3DN-1 50 1.0 1 & KQ3 IMP: 0 EW:0 4SW5 650 1.0 1
4 Q73 » AJ96 A 00 2 ||a KQJT952 a A84 3NE5 660 -1.0 1
v KQ753 v T96 3DN-2 100 1.0 2 [|e Ad _I_ v Q73
* 97 ¢ AKT 2HW2 110 10 6 ||e 5 * KQT2
& T92 & J54 2CN-2 100 1.0 1 & T65 & A97
¢V BN 4542 2HW3 140 20 4 FOVABN o 73
N ~2~~~ 9AJ2 1NE3 150 2.0 1 N 122~~~ »KT5
S ~1~~~ Q864 3HW4 470 <30 1 ||S 122 ~~ o AJ74
E ~~332 #Q87 1HW4 470 30 1 ||E ~~~ 4 4 & J842
W ~~332 ~~~44




INE#FEE 2RBERF R

® ==> RT

#1: 9 BEA(101.6) #2: 17 2fE(86.04) #3 19 55}'4%(83 59)

1 9 NS: BRAERE #EEREHC) 11 1 NS: 225 21815(F0) -2 17.84 : 2.16 Total VP: 83.59 Rank:
EW: {5287 328 (BH0) 28 EW: Z}i8 sRRFF(BAC) 1 IMP:| 32 2 3
I .
# 11 52 7NN-2 100 Mean: 7DS7 1440 140 3 |[|# 12 s K5 3NE4 430 Mean: 5NE-2 100 110 1
v A96 7DS7 -1440 540  6NS6 990 100 2 v J85 4HW4 420 -430 3NW3 400 1.0 1
* KT Dif: 1540 NS:14 6DS7 940 9.0 3 + Q7532 Dif: 10 NS:0 3NE3 400 1.0 1
» KJ832 IMP: 17 EW:12 6DS6 920 9.0 2 » 183 IMP: 0 EW:0 A 00 2
s 94 # JT863 A 00 2 ||a AT s 93 4HW4 420 0.0 1
v KJT5 v 743 3NS5 460 -20 1 ||w 9642 I v AK3 3NW4 430 0.0 3
¢ 93 * 862 6NS-1 50 110 4 |[|e A84 * KJ96 3NE4 430 0.0 4
& QT965 a 74 6NN-1 50 110 2 [ |a QJ2 » AK94 4ANW5 460 1.0 1
d ¢ VAN 4 AKQ7 7NN-2 100 -12.0 1 % ¢V AN 4 QJB742 3NE5 460 1.0 5
N ~6~~6 »Q82 7DS-2 4100 120 2 [N ~~~~~ v QT7 4ANW6 490 20 1
S ~7~~6 ¢AQ754 S ~~~~~ T 3NE6 490 20 1
E ~~~~~ ®A E 554 ~5 #1765 6CW6 920 -100 1
W~~~ ~ ~ 554~5
# 13 » 987 4SW4 620 Mean: 5SW-2 200 110 1 ||# 14 » J92 4HN-1 50 Mean: 4HN4 420 8.0 1
v QJ876 4SW4 620 -360 4SE-2 200 110 1 v AQJI75 3HN3-140 70  3NS4 430 8.0 1
+ Q3 Dif: 0 NS:-6 4SW-1 100 100 3 ¢ 97 Dif: 190 NS:2 4CS4 130 20 2
& QT8 IMP: 0 EW:6 4SE-1 100 100 1 & Q3 IMP: 5 EW:3 3HN3 140 20 4
a JT65 N a AQ42 3NW-1 100 100 1 |[|a T73 ~ K864 3CS5 150 2.0 1
v A42 v KT5 A 00 2||eT4 v K862 3CS4 130 20 1
¢ J8 -l— * K962 4SW4 620 -6.0 10| |e AKT843 ¢ Q5 2HN3 140 20 1
& AKJ6 a 42 3NW3 600 -6.0 1 8 » T64 A 00 2
® VAN ,K3 4SW5 650 7.0 2 d o VAN o, AQS 5CS-1 50 3.0 1
N ~~~~~ v 93 N 4~3~1 3 4HN-1 50 3.0 5
S ~~~~~  AT754 S 4~3~1 ¢J62 3NS-2 100 -50 3
E ~~~43 89753 E ~~~~~ & AKJ752
wv ~~~43 W ~~~~~
# 15 a A 6CW6 920 Mean: 7CW-1 50 12.0 2 ||# 16 s Q6 2DS-2100 Mean: 3CE-3 300 100 1
v 7642 6NE6 990 -640 5CW6 420 6.0 2 v4 3CE-3-300 -180  3SW-2 200 9.0 1
¢ 98764 Dif: -70 NS:-8 4SW6 480 40 4 ¢ QJ9653 Dif: 400 NS:10 2SW-1 100 7.0 1
» 183 IMP: -2 EW:7 3NE6 490 40 3 » K532 IMP: 9 EW:2 2SW2 410 20 1
# KJ654 4 QT8 A 00 2 ||a 98742 & A5 2SN-2 100 2.0 1
v v AQT 6CW6 920 -70 3 || T73 — v AQ8 2SE2 410 20 1
*2 ¢ AQJTS 6SW6 980 -80 1 ||e AT2 * K874 2HS-2 4100 2.0 1
& AKJ7642 » Q9 6NE6 990 -80 5 » A764 2DS-2 100 2.0 1
do ¢ VAN 49732 B¢V AN 4 KIT3 3DS-3 4150 1.0 1
N ~~~~~ v KJ9853 N ~~~~~ v KJ9652 3DN-3 150 1.0 1
S ~~~~~ * K3 S ~~~~~ . 2SN-3 4150 1.0 1
E 64~56 &5 E ~3~32 &T98 2NE3 4150 1.0 1
W 64 ~55 ~3~22 2DN-3 4150 1.0 2
A 00 2
2SE4 470 0.0 1
3NXS-2 300 -3.0 1
3NE3 600 9.0 4
# 17 » K765 3HW5 200 Mean: 4HXW-2 300 9.0 1 ||# 18 & AKQ753 4SN4 -620 Mean: 4SN6 680 4.0 2
v Q 3HW4 170 -100  3DN3 110 50 2 v AQ92 4HS4 -620 520  4SN5 650 4.0 3
¢ AJT965 Dif: 30 NS:-2 4HW-1 50 40 1 *3 Dif: 0 NS:3 4SN4 620 3.0 2
& KQ IMP: 1 EW:3 4DN-1 -50 20 3 & J7 IMP: 0 EW:-3 4HS4 620 3.0 3
» AJ82 aT9 2NS-1 50 20 1 ||a 962 ~ J84 4HN4 620 3.0 1
v AK876 v JT95 A 00 2 ||eJT74 I v 53 3NS4 630 3.0 4
¢ 42 ¢ 87 5DXN-1 100 00 1 ||e JT95 * K72 A 00 2
& Ad a JT832 3NS-3 150 20 1 ||a Q5 a AK432 3SN6 230 7.0 1
B e VAN 4Q43 3HW4 470 -20 4 FOVAN o T 3SN5 200 -80 1
N ~3~1~ 9432 3HWS5 200 -30 3 |IN ~~ 444 ¢ K86 2HN4 170 8.0 2
S ~3~1~ +KQ3 2HW5 200 -30 1||S ~~ 44 4 ¢ AQ864 2HN3 140 9.0 1
E 3~3~1 &9765 5DXN-2 300 50 1||E ~~~~~ & T986
W 3 ~3~1 3NXS-3 500 90 1 |W ~~~~~
# 19 » KT8 2HW3 140 Mean: 2DXS2 180 6.0 1 [|# 20 a6 4SW4 620 Mean: A 00 2
v 84 2HW3 140 -80 2DSs2 90 50 1 v J9862 4SW4 620 -620 4Sw4 -620 0.0 17
¢ J532 Dif: 0 NS:-2 1NN1 90 50 1 ¢ 9863 Dif: 0 NS:0 4SE4 620 0.0 1
& AK63 IMP: 0 EW:2 3DN-1 50 1.0 1 & KQ3 IMP: 0 EW:0 4SW5 650 1.0 1
4 Q73 » AJ96 A 00 2 ||a KQJT952 a A84 3NE5 660 -1.0 1
v KQ753 v T96 3DN-2 100 1.0 2 [|e Ad _I_ v Q73
* 97 ¢ AKT 2HW2 110 10 6 ||e 5 * KQT2
& T92 & J54 2CN-2 100 1.0 1 & T65 & A97
¢V BN 4542 2HW3 140 20 4 FOVABN o 73
N ~2~~~ 9AJ2 1NE3 150 2.0 1 N 122~~~ »KT5
S ~1~~~ Q864 3HW4 470 <30 1 ||S 122 ~~ o AJ74
E ~~332 #Q87 1HW4 470 30 1 ||E ~~~ 4 4 & J842
W ~~332 ~~~44




INE#FEE 2RBERF R

® ==> RT

#1: 9 BEA(101.6) #2: 17 2fE(86.04) #3 19 55}'4%(83 59)

2 O NS: FENER 2 EREAC) 1 3 NS: Z=§E28 ST A(BO) -3 1314 : 6.86 Total VP: 77.42 Rank:
EW: I35 BEEBIO) 3 EW: Eifi BRHEEAC) 1 IMP:| 30 21 7
I .
# 11 52 6DS7 -940 Mean: 7DS7 1440 140 3 |[|# 12 s K5 3NE4 430 Mean: 5NE-2 100 110 1
v A96 6NS-150 540 6NS6 990 100 2 v J85 3NE5 460 -430 3NW3 400 1.0 1
* KT Dif: -990 NS:-11 6DS7 940 9.0 3 + Q7532 Dif: -30 NS:-1 3NE3 400 1.0 1
» KJ832 IMP: -14 EW:-9 6DS6 920 9.0 2 » 183 IMP: -1 EW:0 A 00 2
s 94 # JT863 A 00 2 ||a AT s 93 4HW4 420 0.0 1
v KJT5 v 743 3NS5 460 -20 1 ||w 9642 I v AK3 3NW4 430 0.0 3
¢ 93 * 862 6NS-1 50 110 4 |[|e A84 * KJ96 3NE4 430 0.0 4
& QT965 a 74 6NN-1 50 110 2 [ |a QJ2 » AK94 4ANW5 460 1.0 1
d ¢ VAN 4 AKQ7 7NN-2 100 -12.0 1 % ¢V AN 4 QJB742 3NE5 460 1.0 5
N ~6~~6 »Q82 7DS-2 4100 120 2 [N ~~~~~ v QT7 4ANW6 490 20 1
S ~7~~6 ¢AQ754 S ~~~~~ T 3NE6 490 20 1
E ~~~~~ ®A E 554 ~5 #1765 6CW6 920 -100 1
W o~~~ ~ ~ 554~5
# 13 » 987 4SW5 650 Mean: 5SW-2 200 110 1 ||# 14 » J92 3HN3 -140 Mean: 4HN4 420 8.0 1
v QJ876 4SW4 620 -360  4SE-2 200 110 1 v AQJI75 3NS-2100 70 3NS4 430 8.0 1
+ Q3 Dif: 30 NS:-6 4SW-1 100 100 3 ¢ 97 Dif: -240 NS:-5 4CS4 130 20 2
& QT8 IMP: 1 EW:7 4SE-1 100 100 1 & Q3 IMP: -6 EW:-2 3HN3 140 20 4
a JT65 N a AQ42 3NW-1 100 100 1 |[|a T73 ~ K864 3CS5 150 2.0 1
v A42 v KT5 A 00 2||eT4 v K862 3CS4 130 20 1
¢ J8 -l— * K962 4SW4 620 -6.0 10| |e AKT843 ¢ Q5 2HN3 140 20 1
& AKJ6 a 42 3NW3 600 -6.0 1 8 » T64 A 00 2
® VAN ,K3 4SW5 650 7.0 2 d o VAN o, AQS 5CS-1 50 3.0 1
N ~~~~~ v 93 N 4~3~1 3 4HN-1 50 3.0 5
S ~~~~~ o AT754 S 4~3~1 ¢J62 3NS-2 100 -50 3
E ~~~43 89753 E ~~~~~ & AKJ752
wv ~~~43 W ~~~~~
# 15 a A 4SW6 480 Mean: 7CW-1 50 12.0 2 ||# 16 s Q6 3NE3 600 Mean: 3CE-3 300 100 1
v 7642 7CW-1-50 -640 5CW6 420 6.0 2 v4 2SW-1-100 -180 3SW-2 200 9.0 1
¢ 98764 Dif: 530 NS:12 4SWe6 480 40 4 ¢ QJ9653 Dif: 700 NS:7 2SW-1 100 7.0 1
» 183 IMP: 11 EW:-4 3NE6 490 40 3 » K532 IMP: 12 EW:9 2SW2 410 20 1
# KJ654 4 QT8 A 00 2 ||a 98742 & A5 2SN-2 100 2.0 1
v v AQT 6CW6 920 -70 3 || T73 — v AQ8 2SE2 410 20 1
*2 ¢ AQJTS 6SW6 980 -80 1 ||e AT2 * K874 2HS-2 4100 2.0 1
& AKJ7642 » Q9 6NE6 990 -80 5 » A764 2DS-2 100 2.0 1
do ¢ VAN 49732 B¢V AN 4 KIT3 3DS-3 4150 1.0 1
N ~~~~~ v KJ9853 N ~~~~~ v KJ9652 3DN-3 150 1.0 1
S ~~~~~ * K3 S ~~~~~ . 2SN-3 4150 1.0 1
E 64~56 &5 E ~3~32 &T98 2NE3 4150 1.0 1
W 64 ~55 ~3~22 2DN-3 4150 1.0 2
A 00 2
2SE4 470 0.0 1
3NXS-2 300 -3.0 1
3NE3 600 9.0 4
# 17 » K765 5DXN-2 300 Mean: 4HXW-2 300 9.0 1 |[|# 18 & AKQ753 4SN5 -650 Mean: 4SN6 680 4.0 2
v Q 4DN-150 -100  3DN3 110 50 2 v AQ92 4SN5 -650 520  4SN5 650 4.0 3
¢ AJT965 Dif: 250 NS:2 4HW-1 50 40 1 *3 Dif: 0 NS:4 4SN4 620 3.0 2
& KQ IMP: 6 EW:5 4DN-1 -50 20 3 & J7 IMP: 0 EW:-4 4HS4 620 3.0 3
» AJ82 aT9 2NS-1 50 20 1 ||a 962 ~ J84 4HN4 620 3.0 1
v AK876 v JT95 A 00 2 ||eJT74 I v 53 3NS4 630 3.0 4
¢ 42 ¢ 87 5DXN-1 100 00 1 ||e JT95 * K72 A 00 2
& Ad a JT832 3NS-3 150 20 1 ||a Q5 a AK432 3SN6 230 7.0 1
B e VAN 4Q43 3HW4 470 -20 4 FOVAN o T 3SN5 200 -80 1
N ~3~1~ 9432 3HWS5 200 -30 3 |IN ~~ 444 ¢ K86 2HN4 170 8.0 2
S ~3~1~ +KQ3 2HW5 200 -30 1||S ~~ 44 4 ¢ AQ864 2HN3 140 9.0 1
E 3~3~1 &9765 5DXN-2 300 50 1||E ~~~~~ & T986
W 3 ~3~1 3NXS-3 500 90 1 |W ~~~~~
# 19 » KT8 2HW2 110 Mean: 2DXS2 180 6.0 1 [|# 20 a6 4SW4 620 Mean: A 00 2
v 84 3DN-2100 -80 2DS2 90 50 1 v J9862 4SE4 620 -620 4SW4 620 0.0 17
¢ J532 Dif: 10 NS:-1  1NN1 90 50 1 ¢ 9863 Dif: 0 NS:0 4SE4 620 0.0 1
& AK63 IMP: 0 EW:1 3DN-1 50 1.0 1 & KQ3 IMP: 0 EW:0 4SW5 650 1.0 1
4 Q73 » AJ96 A 00 2 ||a KQJT952 a A84 3NE5 660 -1.0 1
v KQ753 v T96 3DN-2 100 1.0 2 [|e Ad _I_ v Q73
* 97 ¢ AKT 2HW2 110 10 6 ||e 5 * KQT2
& T92 & J54 2CN-2 100 1.0 1 & T65 & A97
¢V BN 4542 2HW3 140 20 4 FOVABN o 73
N ~2~~~ 9AJ2 1NE3 150 2.0 1 N 122~~~ »KT5
S ~1~~~ Q864 3HW4 470 <30 1 ||S 122 ~~ o AJ74
E ~~332 #Q87 1HW4 470 30 1 ||E ~~~ 4 4 & J842
W ~~332 ~~~44




X AY 3z }\ —_
7 lllﬁﬁﬂliﬁ]%ﬁm% e ==> RT 7
#1: 9 BER(101.6) #2: 17 Z24E(86.04) #3 19 ;Erﬁl:!z)b(% 59)
21 NS: #7% WHIR{GEEIC) -6 14 NS: R % E#&1EBEO) -7 P:| 11.50 : 8.50 Total VP: 73.35 Rank:
EW: $8{—5¢ Mh&eEBEEO) 7 EW: i#tiRiE F:55(BAC) 6 IMP:| 20 16 1
I .
# 11 52 6NS6 -990 Mean: 7DS7 1440 140 3 |[|# 12 s K5 3NW4 430 Mean: 5NE-2 100 110 1
v A96 6NS-150 540 6NS6 990 100 2 v J85 3NE4 430 -430 3NW3 400 1.0 1
* KT Dif: -1040 NS:-11 6DS7 940 9.0 3 + Q7532 Dif: 0 NS:0 3NE3 400 1.0 1
» KJ832 IMP: -14 EW:-10 6DS6 920 9.0 2 » 183 IMP: 0 EW:0 A 00 2
s 94 # JT863 A 00 2 ||a AT s 93 4HW4 420 0.0 1
v KJT5 v 743 3NS5 460 -20 1 ||w 9642 I v AK3 3NW4 430 0.0 3
¢ 93 * 862 6NS-1 50 110 4 |[|e A84 * KJ96 3NE4 430 0.0 4
& QT965 a 74 6NN-1 50 110 2 [ |a QJ2 » AK94 4ANW5 460 1.0 1
d ¢ VAN 4 AKQ7 7NN-2 100 -12.0 1 % ¢V AN 4 QJB742 3NE5 460 1.0 5
N ~6~~6 »Q82 7DS-2 4100 120 2 [N ~~~~~ v QT7 4ANW6 490 20 1
S ~7~~6 ¢AQ754 S ~~~~~ T 3NE6 490 20 1
E ~~~~~ & A E 554 ~5 #1765 6CW6 920 -100 1
W o~~~ ~ ~ 554~5
# 13 » 987 4SW4 620 Mean: 5SW-2 200 110 1 ||# 14 » J92 3NS-2100 Mean: 4HN4 420 8.0 1
v QJ876 4SW-1-100 -360 4SE-2 200 110 1 v AQJI75 3NS-2100 70 3NS4 430 8.0 1
+ Q3 Dif: 720 NS:10 4SW-1 100 100 3 ¢ 97 Dif: 0 NS:-5 4Cs4 130 20 2
& QT8 IMP: 12 EW:6 4SE-1 100 100 1 & Q3 IMP: 0 EW:5 3HN3 140 20 4
a JT65 N a AQ42 3NW-1 100 100 1 |[|a T73 ~ K864 3CS5 150 2.0 1
v A42 v KT5 A 00 2 T4 v K862 3CS4 130 20 1
¢ J8 -l— * K962 4SW4 620 -6.0 10| |e AKT843 ¢ Q5 2HN3 140 20 1
& AKJ6 a 42 3NW3 600 -6.0 1 8 » T64 A 00 2
® VAN ,K3 4SW5 650 7.0 2 d o VAN o, AQS 5CS-1 50 3.0 1
N ~~~~~ v 93 N 4~3~1 3 4HN-1 50 3.0 5
S ~~~~~  AT754 S 4~3~1 ¢J62 3NS-2 100 -50 3
E ~~~43 89753 E ~~~~~ & AKJ752
W ~~~43 W o~~~
# 15 a A 5CW6 420 Mean: 7CW-1 50 12.0 2 ||# 16 s Q6 3NE3 600 Mean: 3CE-3 300 100 1
v 7642 3NE6 490 -640 5CW6 420 6.0 2 v4 3NE3 600 -180  3SW-2 200 9.0 1
¢ 98764 Dif: -70 NS:4 4SWeé 480 40 4 ¢ QJ9653 Dif: 0 NS:-9 2Sw-1 100 7.0 1
» 183 IMP: -2 EW:-6 3NE6 490 40 3 » K532 IMP: 0 EW:9 2SW2 410 20 1
# KJ654 4 QT8 A 00 2 ||a 98742 & A5 2SN-2 100 2.0 1
v v AQT 6CW6 920 -70 3 || T73 — v AQ8 2SE2 410 20 1
*2 ¢ AQJTS 6SW6 980 -80 1 ||e AT2 * K874 2HS-2 4100 2.0 1
& AKJ7642 » Q9 6NE6 990 -80 5 ||aQJ » A764 2DS-2 100 2.0 1
do ¢ VAN 49732 B¢V AN 4 KIT3 3DS-3 4150 1.0 1
N ~~~~~ v KJ9853 N ~~~~~ v KJ9652 3DN-3 150 1.0 1
S ~~~~~ * K3 S ~~~~~ S 2SN-3 4150 1.0 1
E 64~56 &5 E ~3~32 &T98 2NE3 4150 1.0 1
W 64 ~55 ~3~22 2DN-3 4150 1.0 2
A 00 2
2SE4 470 0.0 1
3NXS-2 300 -3.0 1
3NE3 600 9.0 4
# 17 » K765 3HW5 200 Mean: 4HXW-2 300 9.0 1 ||# 18 & AKQ753 4SN4 -620 Mean: 4SN6 680 4.0 2
v Q 4DN-150 -100  3DN3 110 50 2 v AQ92 4SN6 -680 520  4SN5 650 4.0 3
¢ AJT965 Dif: 150 NS:2 4HW-1 50 40 1 *3 Dif: 60 NS:4 4SN4 620 3.0 2
& KQ IMP: 4 EW:3 4DN-1 -50 20 3 & J7 IMP: 2 EW:-3 4HS4 620 3.0 3
» AJ82 aT9 2NS-1 50 20 1 ||a 962 ~ J84 4HN4 620 3.0 1
v AK876 v JT95 A 00 2 ||eJT74 I v 53 3NS4 630 3.0 4
¢ 42 ¢ 87 5DXN-1 100 00 1 ||e JT95 * K72 A 00 2
& Ad a JT832 3NS-3 150 20 1 ||a Q5 a AK432 3SN6 230 7.0 1
P eVAN ,Q43 3HW4 170 2.0 4 o OVAN o T 3SN5 200 80 1
N ~3~1~ 9432 3HWS5 200 -30 3 |IN ~~ 444 ¢ K86 2HN4 170 8.0 2
S ~3~1~ +KQ3 2HW5 200 -30 1||S ~~ 44 4 ¢ AQ864 2HN3 140 9.0 1
E 3~3~1 &9765 5DXN-2 300 50 1||E ~~~~~ & T986
W 3 ~3~1 3NXS-3 500 90 1 |W ~~~~~
# 19 » KT8 2HW3 140 Mean: 2DXS2 180 6.0 1 [|# 20 a6 4SW5 650 Mean: A 00 2
v 84 2HW2 110 -80 2DS2 90 50 1 v J9862 4SW4 620 -620 4SW4 620 0.0 17
¢ J532 Dif: 30 NS:-1  1NN1 90 50 1 ¢ 9863 Dif: 30 NS:0 4SE4 620 0.0 1
& AK63 IMP: 1 EW:2 3DN-1 50 1.0 1 » KQ3 IMP: 1 EW:1 4SW5 650 1.0 1
4 Q73 » AJ96 A 00 2 ||a KQJT952 a A84 3NE5 660 -1.0 1
v KQ753 v T96 3DN-2 100 1.0 2 [|e Ad _I_ v Q73
* 97 ¢ AKT 2HW2 110 10 6 ||e 5 * KQT2
& T92 & J54 2CN-2 100 1.0 1 & T65 & A97
¢V BN 4542 2HW3 140 20 4 FOVAN 73
N ~2~~~ 9AJ2 1NE3 150 2.0 1 N 122~~~ »KT5
S ~1~~~ Q864 3HW4 470 <30 1 ||S 122 ~~ o AJ74
E ~~332 #Q87 1HW4 470 30 1 ||E ~~~ 4 4 & J842
W ~~332 ~~~44




11#FXF > FAHERF 2

® ==> RT

#1: 9 BEA(101.6) #2: 17 2fE(86.04) #3 19 55}'4%(83 59)

22 NS: (BC) 0 6 NS: (F0)o0 0.00 12.00 | Total VP: 0.00 Rank:
EW: (BJ0)0 EW: (BiC) 0 IMP:| 0 0 22
I .
# 11 a 52 A Mean: 7DS7 1440 140 3 [[# 12 » K5 A Mean: 5NE-2 100 110 1
v A96 A 540 6NS6 990 100 2 v J85 A -430  3NW3 400 1.0 1
o KJT Dif: 0 NS:0 6DS7 940 9.0 3 ¢ Q7532 Dif: 0 NS:0 3NE3 400 1.0 1
» KJ832 IMP: 0 EW:0 6DS6 920 9.0 2 » 183 IMP: 0 EW:0 A 00 2
s 94 » JT863 A 00 2 ||a AT s 93 4HW4 420 0.0 1
v KJT5 v 743 3NS5 460 -20 1 ||w 9642 I v AK3 3NW4 430 0.0 3
¢ 93 * 862 6NS-1 50 110 4 |[|e A84 * KJ96 3NE4 430 0.0 4
& QT965 a 74 6NN-1 50 110 2 [ |a QJ2 » AK94 ANW5 460 1.0 1
% ¢ VAN 4 AKQ7 7NN-2 100 -12.0 1 % ¢ VAN 4 Q8742 3NE5 460 1.0 5
N ~6~~6 »Q82 7DS-2 4100 120 2 [N ~~~~~ v QT7 4ANW6 490 20 1
S ~7~~6 ¢AQ754 S ~~~~~ T 3NE6 490 20 1
E ~~~~~ ®A E 554 ~5 #1765 6CW6 920 -100 1
W~~~ ~~ 554~5
# 13 » 987 A Mean: 5SW-2 200 110 1 ||# 14 » J92 A Mean: 4HN4 420 8.0 1
v QJ876 A -360 4SE-2 200 110 1 v AQJI75 A 70  3NS4 430 8.0 1
+ Q3 Dif: 0 NS:0 4SW-1 100 100 3 ¢ 97 Dif: 0 NS:0 4Cs4 130 20 2
& QT8 IMP: 0 EW:0 4SE-1 100 100 1 & Q3 IMP: 0 EW:0 3HN3 140 20 4
a JT65 N a AQ42 3NW-1 100 100 1 ||a T73 ~ K864 3CS5 150 2.0 1
v A42 v KT5 A 00 2||eT4 v K862 3CS4 130 20 1
¢ J8 -l— * K962 4SW4 620 -6.0 10| |e AKT843 ¢ Q5 2HN3 140 20 1
& AKJ6 a 42 3NW3 600 -6.0 1 8 » T64 A 00 2
® VAN ,K3 4SW5 650 7.0 2 ¢ VBN ,AQS 5CS-1 50 3.0 1
N ~~~~~ v 93 N 4~3~1 3 4HN-1 50 3.0 5
S ~~~~~  AT754 S 4~3~1 ¢J62 3NS-2 100 -50 3
E ~~~43 89753 E ~~~~~ & AKJ752
W ~~~43 W o~~~
# 15 a A A Mean: 7CW-1 50 12.0 2 ||# 16 s Q6 A Mean: 3CE-3 300 100 1
v 7642 A -640 5CW6 420 6.0 2 v4 A 180  3SW-2 200 9.0 1
¢ 98764 Dif: 0 NS:0 4SW6 480 40 4 ¢ QJ9653 Dif: 0 NS:0 2SW-1 100 7.0 1
» 183 IMP: 0 EW:0 3NE6 490 40 3 » K532 IMP: 0 EW:0 2SW2 410 20 1
# KJ654 4 QT8 A 00 2 ||a 98742 & A5 2SN-2 100 2.0 1
v v AQT 6CW6 920 -70 3 || T73 — v AQ8 2SE2 410 20 1
*2 ¢ AQJTS 6SW6 980 -80 1 ||e AT2 * K874 2HS-2 4100 2.0 1
& AKJ7642 » Q9 6NE6 990 -80 5 » A764 2DS-2 100 2.0 1
do ¢ VAN 49732 B¢V AN 4 KIT3 3DS-3 4150 1.0 1
N ~~~~~ v KJ9853 N ~~~~~ v KJ9652 3DN-3 150 1.0 1
S ~~~~~ * K3 S ~~~~~ S 2SN-3 4150 1.0 1
E 64~56 &5 E ~3~32 &T98 2NE3 4150 1.0 1
W 64 ~55 ~3~22 2DN-3 4150 1.0 2
A 00 2
2SE4 470 0.0 1
3NXS-2 300 -3.0 1
3NE3 600 9.0 4
# 17 » K765 A Mean: 4HXW-2 300 9.0 1 ||# 18 & AKQ753 A Mean: 4SN6 680 4.0 2
v Q A -100  3DN3 110 50 2 v AQ92 A 520 4SN5 650 4.0 3
¢ AJT965 Dif: 0 NS:0 4HW-1 50 40 1 *3 Dif: 0 NS:0 4SN4 620 3.0 2
& KQ IMP: 0 EW:0 4DN-1 -50 20 3 & J7 IMP: 0 EW:0 4HS4 620 3.0 3
» AJ82 aT9 2NS-1 50 20 1 ||a 962 ~ J84 4HN4 620 3.0 1
v AK876 v JT95 A 00 2 ||eJT74 I v 53 3NS4 630 3.0 4
¢ 42 ¢ 87 5DXN-1 100 00 1 ||e JT95 * K72 A 00 2
& Ad a JT832 3NS-3 150 20 1 ||a Q5 a AK432 3SN6 230 7.0 1
B e VAN 4Q43 3HW4 470 -20 4 FOVAN o T 3SN5 200 -80 1
N ~3~1~ 9432 3HWS5 200 -30 3 |IN ~~ 444 ¢ K86 2HN4 170 8.0 2
S ~3~1~ +KQ3 2HW5 200 -30 1||S ~~ 44 4 ¢ AQ864 2HN3 140 9.0 1
E 3~3~1 &9765 5DXN-2 300 50 1||E ~~~~~ & T986
W 3 ~3~1 3NXS-3 500 90 1 |W ~~~~~
# 19 4 KT8 A Mean: 2DXS2 180 60 1 |([|# 20 46 A Mean: A 00 2
v 84 A 80 2DS2 90 50 1 v J9862 A -620 4SW4 620 0.0 17
¢ J532 Dif: 0 NS:0 1NN1 90 50 1 ¢ 9863 Dif: 0 NS:0 4SE4 620 0.0 1
& AK63 IMP: 0 EW:0 3DN-1 50 1.0 1 & KQ3 IMP: 0 EW:0 4SW5 650 1.0 1
4 Q73 » AJ96 A 00 2 ||a KQJT952 a A84 3NE5 660 -1.0 1
v KQ753 v T96 3DN-2 100 1.0 2 [|e Ad _I_ v Q73
* 97 ¢ AKT 2HW2 110 10 6 ||e 5 * KQT2
& T92 & J54 2CN-2 100 1.0 1 & T65 & A97
¢V BN 4542 2HW3 140 20 4 FOVABN o 73
N ~2~~~ 9AJ2 1NE3 150 2.0 1 N 122~~~ »KT5
S ~1~~~ Q864 3HW4 470 <30 1 ||S 122 ~~ o AJ74
E ~~332 #Q87 1HW4 470 30 1 ||E ~~~ 4 4 & J842
W ~~332 ~~~44




